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47 (2 - A)  

1. † ÔåêêÒÁ™Äå ßðéâ–’ð̃ µåâÿåÄåêÆ ÇÈå²™ØéÑ–ÜÝ. 
 §ÒÁµåê ¦ÑÔåêëÑÁµåÑ–Ó ¦Ñ’åâÿð²ìåê ƒÁ·™’å 

ÊðâÿåÔåº˜µð † ÔåêêÒÁ™ÄåÔåíú˜µåâÿå Õ×ðéÚÈå 
Ñ’åÛ¸. 

 1. ÊæÏ“±é²™²ìåìæ ÜÈðé²™ÁµåÒ¼ð ¦Ñ¼åâÿå 
¨éÕ˜µåâÿå ßðôå¢âÿå. 

 2. ¦Ñ ÇÈå²™ÜÈå²µå ÔåÏÔåÜÈðÀ²ìåêÑ–Ó ƒÜÈåÔåê- 
¼ðëéÑÄå 

 3. ÇÈòÚÝ³’æÒ×å˜µåâÿå ƒ¼åÏÁ·™’å §âÿåßå²™Ôåíú 
 † ßðéâ–’ð˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ÜÈå²™. 
 (a) 1, 2 Ôåê¼åê¾ 3 ÜÈå²™ (b) 1 Ôåê¼åê¾ 2 ÜÈå²™ 
 (c) 1 Ôåê¼åê¾ 3 ÜÈå²™ (d) 2 Ôåê¼åê¾ 3 ÜÈå²™ 
 

2. † ÔåêêÒÁ™ÄåÔåíú̃ µåâÿåÑ–Ó ²ìåìæÔå ¦ÿðë¼ð²ìåêÄåêÆ 
ÜÈå²™²ìåìæ ™̃ ßðëÒÁ™ÜÈåÑæ ™̃Áµð ? 
1. ÕÇÈå²™é¼å 

Ç·ÈåÑÔå¼æ¾ 
˜™²µåêÕ’ð 

ÇÈòÚÝ³’æÒ×å 
ÜÈåÒ˜µåÐßå¹ðÎêÒÁµå , 
¼ǻ µðµåÁ™®± Åé²™ÄåÑ–Ó 
’åÒ´µåêÊ²µåêÔå ÇÈå²™ÜÈå²µå 
ÔåÏÔåÜÈðÀ ÊÁµåÑæÔå¹ð  

2. „¯ðë 
¯ðëÐéÇ·ÝÜÈåÔåìó 

ÜÈåÒ“é¸¤ ÔåÜÈåê¾ µ̃åâÿå 
ÇÈåÐÁ·µæÄå ƒÒ×å µ̃åâÿå Êâÿå’ð 
Ôåê²µåê¦ÿðëé´µå¹ð Ôåê¼åê¾ 
ÕÊ·å¦Äð 

3. ßð ð̄²µðë 
ð̄ëÐéÇÝÜÈåÒ 

Êðâÿå“Äå ×å“¾²ìåê 
ÜÝÀ²™é’å²µå̧ Áµå ÔðêéÑê˜µðñ 
ÜÈå²µåâÿå ƒ¦ÿðñÕ’å ÔåÜÈåê¾ µ̃åâÿå 
Êâÿå’ð Ôåê¼åê¾ ÜÈåÒ“é¸¤ 
ÔåÜÈåê¾ µ̃åâÿå ²µåôåÄð 

 ’ðâÿå̃ µð Åé ™́²µåêÔå ÜÈåÒ’ðé¼å̃ µåâÿåÄåêÆ ÊâÿåÜÝ’ðëÒ µ́åê 
ÜÈå²™²ìåìæÁµå ‡¼å¾²µåÔåÄåêÆ „²™ÜÝ²™. 

 ÜÈåÒ’ðé¼å µ̃åâÿåê : 

 (a) 1, 2 Ôåê¼åê¾ 3  

 (b) 1 Ôåìæ¼åÐ 
 (c) 2 Ôåê¼åê¾  3  

 (d) 1 Ôåê¼åê¾ 3  

3. ÇÈå°± I ÄåêÆ ÇÈå°± II ²µðëÒÁ™̃ µð ßðëÒÁ™ÜÝ²™ 
Ôåê¼åê¾ ’ðâÿå µ̃ð Åé ™́²µåêÔå ÜÈåÒ’ðé¼åÔåÄåêÆ 
ÊâÿåÜÝ’ðëÒ µ́åê ÜÈå²™²ìåìæÁµå ‡¼å¾²µåÔåÄåêÆ 
„²™ÜÝ²™. 

ÇÈå°± I ÇÈå°± II 

A. Ê·åëÕê²ìåê Ôæ¼æ Ôå²µå̧  
Ôåê¼åê¾ ƒÁµå²µå 
ÊÁµåÑæÔå¹ð̃ µåâÿåÄåêÆ ’åê²™¼å 
ƒÁ·µåùÏ²ìåêÄå ÔåÄåêÆ 
àé µ̃ðÒÁµåê ’å²µð²ìåêê¼æ¾²µð 

1. ÇÈå²™ÜÈå²µå×æÜÈå¾ø 

B. Ê·åëÕê²ìåê ÇÈå²™Ê·åùÐÔåê -̧
Á™ÒÁµå Ôæ²ìåêêÕÄå Ôðé µ̃å 
Ôåê¼åê¾ Á™“”Äå ÔðêéÑæ µ̃åêÔå 
ÇÈå²™¹æÔåêÔåÄåêÆ àé µ̃ðÒÁµåê 
’å²µð²ìåêê¼æ¾²µð 

2. ‡ÚÈå» ÕÊ·å¦Äð 

C. ›åÄå¼æÏ¦Ï ÔåÜÈåê¾ÔåÄåêÆ Ê–ÜÝ 
Ôåìæ µ́åêÔåíúÁµåê Ôåê¼åê¾ ƒÁµå²µå 
¦ÿðñÕ’å ÔåÜÈåê¾̃ µåâÿåÄåêÆ ‡ÚÈå» 
Ê·åÒ¦Äð Ôåê¼åê¾ 
ÜÈæÒÁ™Ðé’å²µå̧ Á™ÒÁµå 
ÕÊ·å̈ ÜÈåêÔåíúÁµåÄåêÆ 
àé µ̃ðÒÁµåê ’å²µð²ìåêê¼æ¾²µð  

3. ƒÅÑ–é’å²µå̧  

D. ’æÊ¤Äó ÔåìæÄæ’ðÞûñ́ µó 
Ôåê¼åê¾ „ÔåêÓ¦Äå’å 
Ê·å²™¼åÔæÁµå ÁµåßåÏ …ÒÁ·µåÄå 
ƒÅÑÔåÄåêÆ ¼å²ìåìæ²™ÜÈåÑê 
…Ò µ̃æÑÁµå …ÒÁ·µåÄåÁµå 
Ê·æ µ̃å×å: ÁµåßåÄåÔåÄåêÆ 
àé µ̃ðÒÁµåê ’å²µð²ìåêê¼æ¾²µð  

4. ÇÈåÔåÄå×æÜÈå¾ø 

 5. ’æ²™²ìðëéÑ–ÜÈó 
ÇÈåÐÊ·æÔå 

 ÜÈåÒ’ðé¼å µ̃åâÿåê : 

  A B C D 

 (a) 4 2 3 1 

 (b) 1 5 4 2 

 (c) 4 5 2 3 

 (d) 2 1 5 3 
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1. Consider the following statements : 

 Excessive growth of water 

weeds in a water-body is 

attributed to the  

 1. Increase in the benthic 

organisms including bacteria. 

 2. Imbalance in aquatic ecosystem 

 3. Excessive inflow of nutrients 

 Of these statements : 

 (a) 1, 2 and 3 are correct. 

 (b) 1 and 2 are correct. 

 (c) 1 and 3 are correct. 

 (d) 2 and 3 are correct. 

 

2. Which of the following pairs 

is/are correctly matched ? 

1. Eutrophi-

cation 

Nutrient 

accumulation 

leading to 

ecosystem change 

occurring in 

impounded water 

2. Autotro- 

 phism 

Utilization, 

rearrangement and 

decomposition of 

complex materials 

predominate 

3. Heterotro-

phism  

Predominance of 

fixation of light 

energy, use of 

simple inorganic 

substances and 

built of complex 

substances. 

 Select the correct answer using 

the codes given below : 

 Codes :   

 (a) 1, 2 and 3 (b) 1 alone 

 (c) 2 and 3 (d) 1 and 3

  

3. Match List – I with List – II and 
select the correct answer using 
the codes given below in the 
lists :  

List – I List – II 
A. The study of 

the earth’s 
atmosphere 
and its 
changes, is 
called 

1. Ecology 

B. The effect of 
earth rotation 
on wind 
velocity and 
direction, is 
called 

2. Pyrolysis 

C. The process of 
heating of solid 
waste and 
splitting its 
organic 
substances by 
Thermal 
cracking and 
condensation, 
is called  

3. Gasifi-
cation 

D. Partial 
combustion of 
carboneous 
fuel to generate 
a combustible 
fuel gas, rich in 
carbon-
monoxide and 
oxygen, is 
called  

4. Meteoro-
logy 

 5. Coriolis 
effect 

 Codes : 
  A B C D 
 (a) 4 2 3 1 
 (b) 1 5 4 2 
 (c) 4 5 2 3 
 (d) 2 1 5 3 
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4. ÇÈå°± I ÄåêÆ ÇÈå°± II ²µðëÒÁ™̃ µð ßðëÒÁ™ÜÝ²™ 
Ôåê¼åê¾ ’ðâÿå µ̃ð Åé ™́²µåêÔå ÜÈåÒ’ðé¼åÔåÄåêÆ 
ÊâÿåÜÝ’ðëÒ µ́åê ÜÈå²™²ìåìæÁµå ‡¼å¾²µåÔåÄåêÆ 
„²™ÜÝ²™. 
ÇÈå°±  I ÇÈå°± II 

A. ¼æÏ¦Ï 
’ðëâÿåÔð 

1. ¼æÏ¦Ï Åé²µåÄåêÆ 
’ðëÒ´µðë²ìåêêÏ¼å¾Áµð 

B. Ôåêº»Äå 
’ðëâÿåÔð 

2. ÔåìæÄåÔå ÔåêÑÔåêë¼åÐ 
ÜÈðé²™²µåÁµå ÁµåÐÔå 
¼æÏ¦ÏÔåÄåêÆ 
’ðëÒ´µðë²ìåêêÏ¼å¾Áµð 

C. ¼ð²µåÇÈåíú 
’ðëâÿåÔð 

3. Ôæ¼æÔå²µå¸Áµå ˜µæâ–˜µð 
ÜÈðé²µåêÔåíúÁµå²™ÒÁµå Åé²™Äå 
’åÔæ®˜µåâÿå Ôðëßå²µåÄåêÆ 
ÜÈåÒ²µå“ÛÜÈåê¼å¾Áµð 

D. „Ò° 
ÜÈðñÇÈðîÄðé¦ÿó 
’ðëâÿåÔð 

4. ÔåìæÄåÔå ÔåêÑÔåêë¼åÐ 
ÜÈðé²™ÁµåÒ¼ð 
ÁµåÐÔå¼æÏ¦ÏÔåÄåêÆ 
§²ìåêêÏ¼å¾Áµð 

 5. ÅÔæ¤¼å §¼å¾́ µå Ôåê¼åê¾ 
ƒÁ·™’å §¼å¾ µ́å˜µåâÿåÄåêÆ 
¼ǻ µð²ìåêêÔå ÜÈåÑêÔæ˜™ 
ôå²µåÒ ™́ ÔåÏÔåÜÈðÀ²ìåê 
§âÿå µ̃ð ƒÁ¿·µåÔæ 
ƒÁµå²™ÒÁµå ßðë²µå µ̃ð 
˜µæâ– ßæ²ìåêÑê 
ƒÔå’æ×å Åé´µåê¼å¾Áµð 
Ôåê¼åê¾ ßðëÑÜÈåê 
ƒÅÑ˜µåâÿåê ßðë²µå 
ßðëé˜µåÑê ƒÔå’æ×å 
Åé´µåê¼å¾Áµð 

 ÜÈåÒ’ðé¼å µ̃åâÿåê : 

  A B C D 

 (a) 2 4 5 3 

 (b) 3 5 1 2 

 (c) 4 5 1 2 

 (d) 1 4 5 3 

5. ²µðëÊðñÄå Ê–õ ™́ Áµå²µå ÜÈåÕêé’å²µå̧ ÔåÄåêÆ  

 BODt = L[1 – 10–KD ⋅ t] 

 …Áµå²µåÑ–Ó BODt ŠÒÊêÁµåê, 
„ÔåêÓ¦Äå’åÔåÄåêÆ ‡ÇÈå²ìðëé˜™ÜÝ’ðëÒ´µåê, 

¼æÏ¦Ï˜µåâÿå „“Þ µ́ðéÚÈåÄó ÇÈæÐ²µåÒÊ·åÔæÁµå ‘t’ 
Á™Äå˜µåâÿå ÄåÒ¼å²µå, ²µðë ð̄ñÄå Ê–õ´™. 

 KD ŠÒÊêÁµåê ´™„“Þ¦ÿðÄðéÚÈåÄó ÜÝÀ²µæÒ’å,  

‘t’ ŠÒÊêÁµåê Á™Äå˜µåâÿåÑ–ÓÄå ÜÈåÔåê²ìåê. 

 ÔðêéÑ–Äå ÜÈåÕêé’å²µå̧ ÁµåÑ–Ó. 

 (a) L Ôåê¼åê¾ KD Š²µǻ µåë ‡ÚÈå»¼ð 
²ìåêÄåêÆ ƒÔåÑÒÊ–ÜÝ²µåê¼å¾Ôð. 

 (b) ’ðéÔåÑ L Ôåìæ¼åÐ ‡ÚÈå»¼ð²ìåêÄåêÆ 
ƒÔåÑÒÊ–ÜÝ²µåê¼å¾Ôð.  

 (c) ’ðéÔåÑ KD Ôåìæ¼åÐ ‡ÚÈå»¼ð²ìåêÄåêÆ 
ƒÔåÑÒÊ–ÜÝ²µåê¼å¾Ôð. 

 (d) L Ôåê¼åê¾ KD Š²µǻ µåë ‡ÚÈå»¼ð 
²ìåêÄåêÆ ƒÔåÑÒÊ–ÜÈåêÔåíúÁ™ÑÓ. 

 

6. Ôæ²ìåêê¨éÕ˜µåâ– µ̃ð ÜÈåÒÊÒÁ·™ÜÝÁµå 
ÇÈå²™ÜÝÀ½˜µåâÿåÑ–Ó, ¦ÿðñÕ’å ÜÈåë’åÛûÍ¨éÕ µ̃åâÿå 
ÕÊ·å¦Äð † ÔåêêÒÁ™Äå ²ìåìæÔåíúÁµå²µå 
²µåôåÄð µ̃ð ’æ²µå̧ Ôæ˜µåê¼å¾Áµð ? 

 (a) ÜÝÀ²µå Ôåê¼åê¾ „’ðÛéÇÈæßå¤ ƒÒ½Ôåê 
‡¼åÉÄåÆ˜µåâÿåê 

 (b) ƒÜÝÀ²µå Ôåê¼åê¾ „’ðÛéÇÈæßå¤ ƒÒ½Ôåê 
‡¼åÉÄåÆ˜µåâÿåê 

 (c) ƒÜÝÀ²µå Ôåê¼åê¾ ƒÒ ™̃é’æ²µæßå¤ 
ƒÒ½Ôåê ‡¼åÉÄåÆ˜µåâÿåê 

 (d) ÜÝÀ²µå Ôåê¼åê¾ „’ðÛéÇÈæßå¤ÔåÑÓÁµå 
ƒÒ½Ôåê ‡¼åÉÄåÆ˜µåâÿåê 
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4. Match List – I with List – II and 

select the correct answer using 

the codes given below the lists : 

List – I List – II 

A. Waste 

pipe 

1. Carries waste-

water. 

B. Soil 

pipe 

2. Carries liquid 

wastes that do 

not include 

human excreta. 

C. Vent 

pipe 

3. Preserves the 

water seal of 

traps through 

access to 

atmospheric air. 

D. Antisi-

phonage 

pipe 

4. Carries liquid 

wastes including 

human excreta. 

 5. Provides flow of 

air to or from 

drainage system 

in order to 

prevent vacuum 

pressures and 

excessive 

pressures and 

provides escape 

for foul gases. 

 Codes : 

  A B C D 

 (a) 2 4 5 3 

 (b) 3 5 1 2 

 (c) 4 5 1 2 

 (d) 1 4 5 3 

5. The BOD rate equation in 

sewage is represented as  

 BODt = L[1 – 10–KD ⋅ t] 

 Where BODt is the BOD of 

sewage after ‘t’ days from the 

start of oxidation of wastes, by 

consumption of oxygen. 

 KD is the deoxygenation 

constant, ‘t’ is the time in days. 

 In the above equation : 

 (a) L and KD both depend 

upon temperature. 

 (b) Only L depends upon 

temperature.  

 (c) Only KD depends upon 

temperature. 

 (d) L and KD both are 

independent of temperature. 

 

6. In aerobic conditions, the 

microbial decomposition of 

organic results in the formation 

of which one of the following ? 

 (a) Stable and objectionable 

end products 

 (b) Unstable and objectionable 

end products 

 (c) Unstable and acceptable 

end products 

 (d) Stable and unobjectionable 

end products 
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7. † ÔåêêÒÁ™ÄåÔåíú˜µåâÿåÑ–Ó ÜÈå²™²ìåìæÁµå ßðéâ–’ð 
²ìåêÄåêÆ „²™ÜÝ²™. 

 §ÒÁµåê ’ðëâÿåÔð²ìåê Š²µå µ́åë ’å µ́ð µ̃åâÿåÑ–ÓÄå 
ÔåìæÏÄóßðëéÑóÄå …â–¦ÿæ²µæÁµå ÄðÑ  
Ôåê¼åê¾ ÔðêéÑæÌÃ µ̃å §ÊÌ ÔåêÄåêÚÈåÏ ÅÒ¼åê 
’ðëÒ´µåê ôå²µåÒ´™²ìåêÄåêÆ ×åê¡Ôåìæ µ́å 
ÊßåêÁµæÁµåêÁµåÄåêÆ  _____ ŠÄåêÆÔå²µåê. 

 (a) ÔåìæÏÄó ßðëéÑó ÜÈæ±Ò´µó 

 (b) ×åê¡˜µðëâ–ÜÈåêÔå ÇÝé²¿µå 

 (c) ÇÝé²¿µå 

 (d) ¼ðëâÿð²ìåêÔå ÇÝé²¿µå 

 

8. ôå²µåÒ ™́ Åé²µåê ÜÈåÒÜÈå”²µå¹ð ²ìðëé¦Äð²ìåê 
ÁµåÐÔå  ßå²™ÕÄå ßå²µåÔåíú † ÔåêêÒÁ™ÄåÔåíú 
˜µåâÿåÄåêÆ §âÿå˜µðëÒ´™²µåê¼å¾Áµð. 

 1. ¨Äåê˜µåêÔå ×ðëéÁ·µå’å 

 2. ÇÈæÐÁ¿·µåÕê’å ½â–˜µðëâÿåêäÔå ¯æÏÒ’ó 

 3. §²µå®ê Ôåê²µåâÿåê˜µåÑ–ÓÄå ’ðëé¹ð 

 4. ¦²µå ™́²ìåìæ´µåêÔå £ðéÒÊ²µó 

 5. ÔåêÁ·µåùÏÔåê ½â– µ̃ðëâÿåêäÔå ¯æÏÒ’ó 

 ÁµåÐÔå ßå²™ÕÄå ôå²µåÒ ™́ Åé²µåê ÜÈåÒÜÈå”²µå¹ð 
²ìðëé¦Äð²ìåêÑ–Ó † ›å®’å̃ µåâÿå ÜÈå²™²ìåìæÁµå 
ƒÄåê’åÐÔåê _____. 

 (a) 3, 4, 1, 2, 5 (b) 3, 4, 2, 1, 5 

 (c) 4, 3, 2, 1, 5 (d) 4, 3, 1, 2, 5 

9. ÇÈå°± I ÄåêÆ  ÇÈå°± II ²µðëÒÁ™̃ µð ßðëÒÁ™ÜÝ²™ 
Ôåê¼åê¾ ’ðâÿå µ̃ð ÇÈå°±²ìåêÑ–Ó Åé ™́²µåêÔå 
ÜÈåÒ’ðé¼å µ̃åâÿåÄåêÆ ÊâÿåÜÝ ÜÈå²™²ìåìæÁµå 
‡¼å¾²µåÔåÄåêÆ „²™ÜÝ²™. 

ÇÈå°± I 

(Åé²µåê 

ÜÈå²µåÊ²µæ¨Äå 

ÔåêëÑ) 

ÇÈå°± II 

(Åé²™Äå µ̃åê¸Ôåê®± 

ÇÈåÐÕê½ µ̃åâÿåê) 

A. ÇÈåÐÔæßå 
ÜÈåÔåê²ìåêÁµåÑ–Ó 
ÄåÁ™ Åé²µåê 

1. ßåëâÿåê Ôåê¼åê¾ 
ÊæÏ“±é²™²ìåê 

B. ’æÑêÔð Åé²µåê 2. •Å¦ÿæÒ×å˜µåâÿåê 
Ôåê¼åê¾ 
˜µå µ́åêÜÈåê¼åÄå 

C. ¼åâÿåÁµåÑ–Ó²µåêÔå 
’ð²µð Åé²µåê 

3. ’å ™́Ôðê 
ÜÈæÔå²ìåêÔå ƒÒ×å 
Ôåê¼åê¾ ßðôåê¢ 
´™õ 

D. ƒÒ¼å¦¤Ñ 4. ’å ™́Ôðê ™́õ 
Ôåê¼åê¾ Ê¸»  

 5. ßðôåê¢ ²µæ ™́ 
Ôåê¼åê¾ ´™õ 

 ÜÈåÒ’ðé¼å µ̃åâÿåê : 

  A B C D 

 (a) 4 1 5 2 

 (b) 5 3 4 2 

 (c) 3 2 1 5 

 (d) 5 2 3 1 
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7. A sloped floor of a manhole on 

both sides of and above a 

channel, on which a man can 

stand for cleaning the sewers is 

called 

 (a) Manhole stand 

 (b) Cleaning bench 

 (c) Benching 

 (d) Wash bench 

 

8. The flow sheet of the liquid 

stream of a sewage treatment 

scheme consists of  

 1. Trickling Filter 

 2. Primary Settling Tank 

 3. Grit Chamber 

 4. Screen Chamber 

 5. Secondary Settling Tank 

 The correct sequence of these 

units in the sewage treatment 

scheme of a liquid stream is 

 (a) 3, 4, 1, 2, 5  

 (b) 3, 4, 2, 1, 5 

 (c) 4, 3, 2, 1, 5  

 (d) 4, 3, 1, 2, 5 

9. Match List – I with List – II and 

select the correct answer using 

the codes given below the lists : 

List – I 

(Source of 

Water 

Supply) 

List – II 

(Water 

Quality 

Parameters) 

A. River water 

during 

floods 

1. Silt and 

Bacteria 

B. Canal 

water 

2. Minerals and 

Hardness 

C. Lake water 

at the 

bottom 

3. Low organic 

content and 

High DO 

D. Ground 

water 

4. Low DO & 

Colour  

 5. High 

turbidity and 

DO 

 Codes : 

  A B C D 

 (a) 4 1 5 2 

 (b) 5 3 4 2 

 (c) 3 2 1 5 

 (d) 5 2 3 1 
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10. ÇÈå°± I (ÇÈåÐÕê½˜µåâÿåê) ÄåêÆ  ÇÈå°± II 
²µðëÒÁ™˜µð (’åê ™́²ìåêêÔå Åé²™Äå 
ƒÄåêÔåê½ÜÈåÊßåêÁµæÁµåå Ôåê¼åê¾ 
ƒÇÈðé’åÛºé²ìåê Õê½) ßðëÒÁ™ÜÝ²™ Ôåê¼åê¾ 
’ðâÿå µ̃ð ÇÈå°±²ìåêÑ–Ó Åé ™́²µåêÔå ÜÈåÒ’ðé¼å µ̃åâÿåÄåêÆ 
ÊâÿåÜÝ ÜÈå²™²ìåìæÁµå ‡¼å¾²µåÔåÄåêÆ „²™ÜÝ²™. 

ÇÈå°± I ÇÈå°± II 

A. Äðñ ð̄Ðé¯ó ÜÈæÒÁµåÐ¼ð 1. 0.2 mg/l 

B. ˜µå µ́åêÜÈåê¼åÄå 2. 45 mg/l 

C. ’å²µå˜™²µåêÔå 
›åÄåÔåÜÈåê¾ µ̃åâÿåê 

3. CaCO3²ìåêÒ¼ð 
< 300 mg/l  

D. ƒÔåØÚÈå± Ôåêê’å¾ 
’ðëÓé²™Äó  

4. 500 mg/l 

 5. 70 mg/l 
 ÜÈåÒ’ðé¼å µ̃åâÿåê : 

  A B C D 

 (a) 3 2 1 5 

 (b) 1 2 4 5 

 (c) 2 5 1 3 

 (d) 2 3 4 1 

 

11. Åé²µåê ÜÈå²µåÊ²µæ¦ê ßåÒ¡’ð ÔåÏÔåÜÈðÀ²ìåêÑ–Ó 
ÜÈåÔåê¼ðëéÑ–¼å ¦Ñæ×å²ìåêÔåÄåêÆ 
§Áµå˜™ÜÈåêÔåíúÁµå²µå ‡ÁµðÂé×å  

 (a) ßåÒ¡’ð ÔåÏÔåÜÈðÀ²ìåêÑ–Ó §¼å¾́ µåÔåÄåêÆ 
‹’å²µåëÇÈåÔæ˜™ÜÈåêÔåíúÁµåê  

 (b) Åé²™Äå ßå²™Ôåíú ÅÒ¼å²µåë 
Êðé´™’ð²ìåêÄåêÆ ÇÈåî²µðñÜÈåÑê ÜÈæ’åÚÈåê± 
ÇÈåÐÔåìæ¸Áµå Åé²µåÄåêÆ 
ÜÈåÒ˜µåÐàÜÈåêÔåíúÁµåê 

 (c) ÜÈæ’åÚÈåê± ƒ ™̃Æ×æÔåê’å ßðëé²µæ®Áµå 
ÕêéÜÈåÑ–˜µæ˜™ ÜÈåÒ µ̃åÐàÜÈåêÔåíúÁµåê 

 (d) Êâÿå’ð²ìåê Áµå²µåÁµåÑæÓ µ̃åêÔå ‹²™â–
¼å˜µåâÿå Ê µ̃ðš ’æâÿå¨ ÔåàÜÈåêÔåíúÁµåê 

12. §ÒÁµåê Äå˜µå²µåÁµå §®ê± Åé²™Äå 
ƒÔå×åÏ’å¼ð²ìåêÄåêÆ ÜÈæÔåìæÄåÏÔæ˜™ _____ ²µå 
„Á·µæ²µåÁµå ÔðêéÑð ÅÁ·µå¤²™ÜÈåÑæ˜µåê¼å¾Áµð. 

 (a) ˜µåÒ ð̄²ìåê ˜µå²™ÚÈå³ Êðé´™’ð˜µåâÿåê 

 (b) ÁµðñÄåÒÁ™Äå ˜µå²™ÚÈå³ Êðé´™’ð̃ µåâÿåê + 

ƒ˜™Æ Êðé ™́’ð 

 (c) ÜÈå²µæÜÈå²™ ÁµðñÄåÒÁ™Äå Êðé´™’ð + ƒ˜™Æ 
Êðé´™’ð 

 (d) (a) Ôåê¼åê¾ (b) ˜™Ò¼å ßðå¡¢Äå  

 

13. Åé²µåê ÜÈåÒÜÈå”²µå¹ð²ìåêÑ–Ó ’ðëÓé²™Äó ÅÒÁµå 
ÜÈðëéÒ’åê ÅÔæ²µå¹ð²ìåê Áµå’åÛ¼ð²ìåêê 
…Áµå²™ÒÁµå ßðôåê¢¼å¾Áµð. 

 (a) ÜÈåÒÇÈå’å¤Áµå ÜÈåÔåê²ìåê 
’å ™́Ôðê²ìåìæÁµåÒ¼ð 

 (b) Åé²™Äå ‡ÚÈå»¼ð ’å ™́Ôðê²ìåìæÁµåÒ¼ð 

 (c) Åé²™Äå ‡ÚÈå»¼ð ßðôæ¢ÁµåÒ¼ð 

 (d) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåë ƒÑÓ 

 

14. Ê·æ²µå½é²ìåê …ŒŠ ƒÁ™ÜÈåëôåÄð 2006 
²µǻ ™²ìåêÑ–Ó …ŒŠ ÇÈåÐ“Ð²ìðê²ìåê 

ÜÈåÔåê²ìåêÁµåÑ–Ó ‘Scoping’ _____˜µð 
ƒÄåÖÎêÜÈåê¼å¾Áµð. 

 (a) ²ìðëé¦Äð µ̃åâÿå ‘Š’ ÇÈåÐÔå˜µå¤ 

 (b) ²ìðëé¦Äð µ̃åâÿå ‘Ê–1’ ÇÈåÐÔå µ̃å¤   

 (c) ²ìðëé¦Äð µ̃åâÿå ‘Ê–2’ ÇÈåÐÔå µ̃å¤ 

 (d) (a) Ôåê¼åê¾ (b) Š²µǻ µåë 



47 (9 - A)  

10. Match List – I (parameters) with 

List – II (Permissible or 

Desirable limit in Drinking 

water) and select the correct 

answer using the codes given 

below the lists :  

List – I List – II 

A. Nitrate 

concentration 

1. 0.2 mg/l 

B. Hardness 2. 45 mg/l 

C. Dissolved 

solids 

3. < 300 mg/l 

as CaCO3 

D. Residual free 

chlorine 

4. 500 mg/l 

 5. 70 mg/l 

 Codes : 

  A B C D 

 (a) 3 2 1 5 

 (b) 1 2 4 5 

 (c) 2 5 1 3 

 (d) 2 3 4 1 

 

11. The purpose of providing a 

balancing reservoir in a water 

supply distribution system is to  

 (a) Equalize pressure in the 

distribution system. 

 (b) Store adequate quantity of 

water to meet requirement 

in case of breakdown of 

flow. 

 (c) Store adequate fire fighting 

reserve. 

 (d) Take care of fluctuations in 

the rate of consumption. 

12. The total water requirement of a 

city is generally assessed on the 

basis of  

 (a) Maximum hourly demand 

 (b) Maximum daily demand + 

fire demand 

 (c) Average daily demand + 

fire demand 

 (d) Greater of (a) and (b) 

 

13. The efficiency of disinfection 

by chlorine (Cl2) in water 

treatment, increases by 

 (a) decrease in time of contact 

 (b) decrease in temperature of 

water 

 (c) increase in temperature of 

water 

 (d) None of the above 

 

14. The ‘Scoping’ during EIA 

process under Indian EIA 

Notification 2006 is applicable 

 (a) ‘A’ category of projects 

 (b) ‘B1’ category of projects 

 (c) ‘B2’ category of projects 

 (d) (a) and (b) both 
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15. 10 Ôðêñ’æÐÄó (ÇÝŠÒ 10) ƒÁ¿·µåÔæ 2.5 

Ôðêñ’æÐÄó (ÇÝŠÒ 2.5) ˜™Ò¼åÑë ÜÈå »̧ÁµæÁµå 

˜µæ¼åÐÁµå ’å̧ ˜µåâÿå ÔåêêÄðÆôå¢²™’ð Ôæ²ìåêê 

ÔåìæÑ–ÄåÏÁµå ‡¼å¾Ôåê ÜÈåëôå’å, ‹’ðÒÁµå²µð  

 (a) …Ò¼åßå ÜÈå̧ » ’å¸ µ̃åâÿåê Ôåêë ™̃Äå 

Ôåê¼åê¾ ˜µåÒ®Ñ ’åêâ–²ìåê ÇÈåÐÁµðé×åÁµåÑ–Ó 

ÜÈåÒ˜µåÐßåÔæ˜™ ½éÔåÐ ¼ð²µåÄæÁµå 

„²µðëé˜µåÏ ÜÈåÔåêÜÈðÏ˜µåâÿåÄåêÆ ‡Ò®ê 

Ôåìæ´µåÊßåêÁµåê. 

 (b) …Ò¼åßå ÜÈå̧ » ’å¸ µ̃åâÿåê Êßåê¼ðé’å 

×æÖÜÈåÄæâÿåÁµåÑ–Ó Ôåê¼åê¾ ×æÖÜÈå’ðëé×åÁµå 

ÇÈåÐÁµðé×åÁµåÑ–Ó ÜÈåÒ˜µåÐßåÔæ˜™ 

×æÖÜÈåÄæâÿå˜µåâÿå §âÿåÇÈðî²µð²ìåê 

‡²™²ìåêë¼å (ÊæÐÒ’ðñ°ÜÈó) Ôåê¼åê¾ 

…¼å²µå ×æÖÜÈå’ðëé×åÁµå ²µðëé˜µå˜µåâÿåÄåêÆ 

‡Ò®êÔåìæ´µåÊßåêÁµåê. 

 (c) (a) Ôåê¼åê¾ (b) Š²µǻ µåë 

 (d) …Ôåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåë ƒÑÓ 

 

16. ÇÈåÐÔåêê• „ÕêÓ²ìåê Ôåê¼åê¾ ’æÛ²™é²ìåê 

Ôå˜µå¤˜µåâÿåê, „ÔåêÓ Ôåêâÿð²ìåê ²µåôåÄð Ôåê¼åê¾ 

ƒÁµå²µå ¼å®ÜÈåÀ µ̃ðëâ–ÜÈåêÕ’ð _____ ÅÒÁµå 

‡Ò¯æ˜µåê¼å¾Áµð. 

 (a) SO2, NOx and Ca2+, Na+ 

 (b) CO2, H2S and Ca2+, Mg2+ 

 (c) NOx, O3 and Ca2+, Na+ 

 (d) SO2, NOx and Ca2+, Mg2+ 

17. † ÔåêêÒÁ™ÄåÔåíú̃ µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ×åÊÂ ÔåìæÑ–ÄåÏ 
ÔåÄåêÆ ’ǻ ™Ôðê Ôåìæ µ́åêÔÑ–Ó  Äð²µåÔæ µ̃åêÔåíúÁ™ÑÓ ? 

 (a) ’ðñ˜µæ²™’æ ôå®êÔå°’ð˜µåâÿåê Ôåê¼åê¾ 
Ôðëé¯æ²µåê ÔæßåÄå˜µåâ– µ̃æ˜™ ×åÊÂ 
ÔåìæÄå’å˜µåâÿåÄåêÆ ÅÁ·™¤ÚÈå± µ̃ðëâ–ÜÈåêÔåíúÁµåê 
Ôåê¼åê¾ ƒÄåêÚÈæ±Äå˜µðëâ–ÜÈåêÔåíúÁµåê  

 (b) ÜÈæÔå¤¦Å’å²µåê Á·µåùÖÅÔåÁ·µå¤’å˜µåâÿåÄåêÆ 
Ôðëâÿå ™̃ÜÈåêÔåíúÁµåê Ôåê¼åê¾ ²µðé´™²ìðë 
ÜÈð¯ó˜µåâÿåÄåêÆ ‡ÇÈå²ìðëé ™̃ÜÈåêÔåíúÁµå²µå 
Õ²µåêÁµåÂÃ ¼å´µð ÕÁ·™ÜÈåêÔåíúÁµåê 

 (c) Ôæº¨Ï’å Ôåê¼åê¾ ’ðñ̃ µæ²™’æ ÇÈåÐÁµðé×å   
µ̃åâ–ÒÁµå ÔåÜÈå½ ÜÈåÒ“é¸¤ µ̃åâÿåÄåêÆ 

ÊðéÇÈå¤ ™́ÜÝ, ÔåÑ²ìåê µ̃åâÿåÄæÆ̃ ™ÜÈåêÔåíúÁµåê 

 (d) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåë ƒÑÓ 

 

18. ÄðÑ Ê·å½¤²ìåê ’ðÛé¼åÐ ÕÁ·µæÄåÔåíú _____ 
…ÁµæÂ˜µå ßðôåê¢ ÜÈåë’å¾.  

 (a) „ ÇÈåÐÁµðé×åÔåíú ’åÒÁµå’å ¼ðëé´µåÑê 
ÜÈåë’å¾Ôæ˜™ÑÓÁ™ÁµæÂ µ̃å 

 (b) ÅÔðé×åÄåÁµåÑ–Ó „Ôå²™ÜÈåêÔå ÔåÜÈåê¾ÕÄå 
ÜÈæ’åÚÈåê± „âÿå ÑÊ·åùÏÕÁµæÂ˜µå 

 (c) ÔðêéÑðÍþñ˜µð ßå½¾²µåÁµåÑ–Ó Åé²™Äå ßå²™Ôåíú 
…ÁµæÂ˜µå 

 (d) ÜÈåê¼å¾Ôåêê¼å¾Ñ ÇÈåÐÁµðé×åÁµåÑ–Ó ÜÈæÖÊ·æÕ’å 
ƒÁ¿·µåÔæ ’åï¼å’å ’åêÜÝ¼å ’åÒ µ́åê ÊÒÁµæ µ̃å 
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15. The monitoring of the particles 

of size lesser than 10 micron 

(PM 10) or even lesser than   

2.5 micron (PM 2.5) is a better 

indicator of air pollution, 

because  

 (a) such smaller particles tend 

to be deposited in 

nasopharyngeal region, 

causing serious health 

problems. 

 (b) such smaller particles are 

mostly deposited in 

tracheobronchial and 

pulmonary region causing 

bronchitis and other lung 

diseases. 

 (c) both (a) and (b) 

 (d) none of these 

 

16. The important acidic and 

alkaline species, formation of 

acid rains and its neutralized by  

 (a) SO2, NOx and Ca2+, Na+ 

 (b) CO2, H2S and Ca2+, Mg2+ 

 (c) NOx, O3 and Ca2+, Na+ 

 (d) SO2, NOx and Ca2+, Mg2+ 

17. Which of the following will not 

help in abating noise pollution ? 

 (a) Specifying and implementing 

noise standards for industrial 

activities and motor 

vehicles. 

 (b) Imposing ban on public 

against blaring of 

loudspeakers and playing of 

radio sets. 

 (c) Zoning and segregation of 

residential complexes from 

the commercial and 

industrial areas. 

 (d) None of the above 

 

 

18. Area method of land filling is 

most suitable when 

 (a) area is unsuitable for 

excavation of trenches. 

 (b) adequate depth of cover 

material is available at the 

site. 

 (c) the water table is near the 

surface. 

 (d) natural or artificial 

depression exist in the 

vicinity. 
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19. ÜÈæÔå²ìåêÔå ÔåêêÅÞÇÈåÑó ›åÄå ¼æÏ¦ÏÔåÄåêÆ 
ÊðéÇÈå¤ ™́ÜÝ, „ÏÄðé²µðëéÊ–’ó ÊæÏ“±é²™²ìåêÑó 
ÇÈæôåÄåÁµå ÄåÒ¼å²µå ‡â–²ìåêêÔå ƒÒ½Ôåê 
‡¼åÉÄåÆÔåÄåêÆ _____ ŠÒÁµåê ’å²µð²ìåêêÔå²µåê. 

 (a) ’æÒÇÈðîéÜÈó± (Õê×åÐ˜µðëÊÌ²µå) 

 (b) ßåëÏÔåêÜÈó (Ôåê¸ê» µ̃ðëÊÌ²µå) 

 (c) Ñ–éôð¯ó 

 (d) ÊëÁ™ 

 

20. _____ ×ðÐéº²ìåê ¼å²µåÒ˜µæÒ¼å²µå 
ÔæÏÇÝ¾²ìåêÄåêÆ ßðëÒÁ™²µåêÔå ÇÈåÐÁµðé×åÁµåÑ–Ó 
õ²µðªëéÄó ¼åêÒÊæ ÇÈåÐÊÑÔæ ™̃ 
Äðé²µåâÿæ½é¼å Êðâÿå’åÄåêÆ àé²™’ðëâÿåêä¼å¾Áµð. 

 (a) 360 – 460 ŠÄóŠÒ 

 (b) 220 – 330 ŠÄóŠÒ 

 (c) 135 – 200 ŠÄóŠÒ 

 (d) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåë ƒÑÓ 

 

21. Ôæ²ìåêê Ôåê¼åê¾ ²µðñÑê ÜÈæ²™̃ µð˜µð ßðëéÑ–ÜÝ- 
Áµå²µð, ²µåÜÈð¾ ÜÈæ²™ µ̃ð²ìåê ÇÈåÐÁ·µæÄå ƒÄåê’åëÑ  

 (a) Áµåë²µåÁµå (ÇÈåÐ²ìåìæ̧ ’ð”) ÜÈåë’å¾ 

 (b) ƒÁ·™’å Ôðé˜µå 

 (c) ÔåêÄð Êæ˜™Ñ–˜µð ÜÈðéÔð 

 (d) ’åÅÚÈå³ ÄåÔåêÏ¼ð 

 

22. ÜÈåÔåê¼åÑÁµå Ôåê¼åê¾ ‡²µåêâÿåêÔå ÔðêéÑðÍþñÄå 
ßåâ–ä µ̃æ´™Äå ²µåÜÈð¾̃ µåâ– µ̃æ˜™, ’åÅÚÈå³  ÜÈåÒôæ²µå 
Ôåìæ˜µå¤Áµå ƒ˜µåÑ _____ 

 (a) 9 Õêé. ˜µåâÿåê (b) 4.75 Õêé. µ̃åâÿåê 

 (c) 7.5 Õêé. ˜µåâÿåê (d) 4 Õêé. ˜µåâÿåê 

23. Ê–̈  ²µðñÑê ßæÁ™̃ µæ ™̃, ²µðñÑðÖ²ìåêÔå²µåê 
ØÇ·Èæ²µåÜÈåê Ôåìæ ™́²µåêÔå ’åÅÚÈå³ ÔæÑêÕ’ð 
Ôåê¼åê¾ ½²µåêÕÄå ’ðëéÄå, ƒÄåê’åÐÔåêÔæ ™̃ 
_____  

 (a) 100 ²µåÑ–Ó 1 “”Ò¼å ßðôåê¢ Ôåê¼åê¾ 

10° “”Ò¼å ’ǻ ™Ôðê 

 (b) 50 ²µåÑ–Ó 1 “”Ò¼å ßðôåê¢ Ôåê¼åê¾ 10° 

“”Ò¼å ßðôåê¢ 

 (c) 100 ²µåÑ–Ó 1 “”Ò¼å ßðôå¢ÑÓ Ôåê¼åê¾ 

10° ²ìåêÔå²µð˜µð Õê½˜µðëâ–ÜÝÁµð 

 (d) 30 ²µåÑ–Ó 1 Ôåê¼åê¾ 5° 

 

24. “²™ÁµæÁµå µ̃ðé¦ÿóÄå ƒ µ̃åÑ, ÕêÕêé ÄåÑ–Ó ____   

 (a) 1000 (b) 562 

 (c) 700 (d) 762 

 

25. ²µåÄó Ôðé²ìåêÄåêÆ _____ Á™“”ÄåÑ–Ó 
ÜÈæÀÇÝÜÈåÊðé’åê. 

 (a) ÜÈæÔåìæÄåÏÔæ˜™ Ê–éÜÈåêÔå ˜µæâ– 

 (b) ’åÅÚÈå³ Ôæ²ìåêê ½éÔåÐ¼ð 

 (c) ÜÈæÔåìæÄåÏÔæ˜™ ˜µæâ– Ê–éÜÈåêÔå 
Á™“”˜µð ÑÒÊÔæ˜™ 

 (d) ÜÈæÔåìæÄåÏÔæ˜™ Ê–éÜÈåêÔå ˜µæâ– µ̃ð 
45° õ²µð²ìåìæ˜™ 

 

26. ¦ÿð¯ó …Ò¨Äó ÕÔåìæÄå˜µåâÿåÄåêÆ ßæ²™ÜÈåêÔå 
ÕÔåìæÄå ÅÑæÂ¸’æ”˜™, ŒŠÇ·Èó „²µó 
ÚÈå²µå½¾Äǻ ™ …¼å²µå ÕÔåìæÄå ÅÑæÂ¸˜µåâ– µ̃ð 
_____ ÜÈæÕêéÇÈåÏÕ²µåÊðé’åê.  

 (a) 100 “.Õêé. (b) 160 “.Õêé. 

 (c) 80 “.Õêé. (d) 145 “.Õêé. 
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19. The end product formed, after 

separation and anaerobic 

bacterial digestion of organic 

municipal solid waste, is called 

 (a) Compost  

 (b) Humus 

 (c) Leachete 

 (d) Ashes 

 

20. The ozone strongly absorbs 

ultraviolet light in the region 

having wavelength in the range 

of  

 (a) 360 – 460 nm 

 (b) 220 – 330 nm 

 (c) 135 – 200 nm 

 (d) None of the above 

 

21. The main advantage of road 

transportation compared to air 

and rail transportation is  

 (a) suitable for long distances 

 (b) high speed 

 (c) door to door service 

 (d) minimum flexibility 

 

22. For village roads with plain and 

rolling terrain, the width of 

minimum roadway is 

 (a) 9 metres 

 (b) 4.75 metres 

 (c) 7.5 metres 

 (d) 4 metres 

23. For a BG track, the minimum 

gradient and degree of curve 

recommended by Railways 

respectively is  

 (a) more than 1 in 100 and less 

than 10° 

 (b) more than 1 in 50 and 

greater than 10° 

 (c) not more than 1 in 100 and 

limited upto 10° 

 (d) 1 in 30 and 5° 

 

24. The width of a narrow gauge in 

mm is  

 (a) 1000 (b) 562 

 (c) 700 (d) 762 

 

25. Runway is oriented in the 

direction of 

 (a) Prevailing wind 

 (b) Minimum wind intensity 

 (c) Perpendicular to direction 

of prevailing wind 

 (d) 45 degree inclination to 

prevailing wind 

 

26. For airport operating jet engine 

aircrafts, the proximity to other 

airports under IFR condition is  

 (a) 100 km (b) 160 km 

 (c) 80 km (d) 145 km 
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27. §ÒÁµåê ²µðñÑê ’åÒÊ–²ìåê ‡ÁµåÂ 13 Õêé. µ̃åâ–
ÁµåÂ²µð, 0.5 “.Õêé. ƒÒ¼å²µå’ð” Êðé’æ˜µåêÔå 
²µðñÑê ’åÒÊ– µ̃åâÿå ÜÈåÒ•ÿðÏ 

 (a) 78 (b) 40 

 (c) 39 (d) 76 

 

28. ‘ƒÇÈðé’ðÛ’ ÜÈæÑê˜µåâÿå ÔåêëÑ’å Äå’ðÛ 
²µå¡ÜÈåÑæÁµå ÜÈåÒôæ²™ ÜÈåÕêé’ðÛ 
Áµå¼å¾Ôåìæà½²ìåê ßðÜÈå²µðéÄåê ? 

 (a) Ôðé˜µå Ôåê¼åê¾ ÅÁ·µæÄå ƒÁ·µåùÏ²ìåêÄå 

 (b) Ôå˜™¤é’åï¼å ÜÈåÒÇÈåíú® ƒÁ·µåùÏ²ìåêÄå 

 (c) ƒÇÈå›æ¼å ƒÁ·µåùÏ²ìåêÄå 

 (d) ÔåêëÑ Ôåê¼åê¾ µ̃åê²™ ƒÁ·µåùÏ²ìåêÄå 

 

29. §ÒÁµåê ²µåÄó-Ôðé µ̃ð ½ÁµåêÂÇÈå ™́²ìåêÄåêÆ 
ƒÄåÖÎêÜÈåÊðé’æÁµå ÔåÏÔåÜÝÀ¼å ’åÐÔåê  

 (a) Š¼å¾²™ÜÈåêÕ’ð²ìåê ’æ²µå̧ Á™ÒÁµå 
½ÁµåêÂÇÈǻ ™, ‡ÚÈå»¼ð²ìåê ’æ²µå̧ Á™ÒÁµå 
½ÁµåêÂÇÈǻ ™, ÜÈåÒ²ìðëé¨¼å ½ÁµåêÂÇÈå ™́, 
ÔæÑêÕ’ð ’æ²µå̧ Á™ÒÁµå ½ÁµåêÂÇÈå ™́ 

 (b) ÔæÑêÕ’ð ’æ²µå̧ Á™ÒÁµå ½ÁµåêÂÇÈå ™́, 
Š¼å¾²™ÜÈåêÕ’ð²ìåê ’æ²µå̧ Á™ÒÁµå 
½ÁµåêÂÇÈǻ ™, ÜÈåÒ²ìðëé¨¼å ½ÁµåêÂÇÈå ™́, 
‡ÚÈå»¼ð²ìåê ’æ²µå¸Á™ÒÁµå ½ÁµåêÂÇÈå ™́ 

 (c) ÜÈåÒ²ìðëé¨¼å ½ÁµåêÂÇÈǻ ™, Š¼å¾²™ÜÈåêÕ’ð²ìåê 
’æ²µå̧ Á™ÒÁµå ½ÁµåêÂÇÈǻ ™, õÑêÕ’ð 
’æ²µå̧ Á™ÒÁµå ½ÁµåêÂÇÈǻ ™, ‡ÚÈå»¼ð²ìåê 
’æ²µå̧ Á™ÒÁµå ½ÁµåêÂÇÈǻ ™ 

 (d) ‡ÚÈå»¼ð²ìåê ’æ²µå¸Á™ÒÁµå ½ÁµåêÂÇÈå ™́, 
Š¼å¾²™ÜÈåêÕ’ð²ìåê ’æ²µå̧ Á™ÒÁµå 
½ÁµåêÂÇÈǻ ™,  ÜÈåÒ²ìðëé¨¼å ½ÁµåêÂÇÈå ™́, 
õÑêÕ’ð ’æ²µå̧ Á™ÒÁµå ½ÁµåêÂÇÈå ™́ 

 

30. §ÒÁµåê ÕÔåìæÄå ÅÑæÂ̧ Áµå ÔåêëÑ ‡ÁµåÂ 
1000 Õêé®²µó µ̃åâÿåê. ÕÔåìæÄå ÅÑæÂ̧ Ôåíú 
410 Õêé.̃ µåâÿåê Š¼å¾²µåÁµåÑ–Ó …ÁµåÂ²µð, ½ÁµåêÂÇÈǻ ™ 
Ôåìæ ™́Áµå ÄåÒ¼å²µå ²µåÄó Ôðé²ìåê ÜÈå²™ÇÈǻ ™ÜÝÁµå 
‡ÁµåÂ Õêé.̃ µåâÿåÑ–Ó _____  

 (a) 1030.5 (b) 1090.6 

 (c) 1095.6 (d) 1089.6 

 

31. Ê·æ²µå¼åÁµåÑ–Ó ²µåÜÈð¾ ¦ÿæÏÕê½²ìåêÄåêÆ _____ ˜µð 
ÕÄæÏÜÈå˜µðëâ–ÜÈåÑæ˜™Áµð.   

 (a) 50 Äð²ìåê ƒ¼åÏÁ·™’å, ÇÈåÐ½›åÒ ð̄²ìåêÑ–ÓÄå  
ÔæßåÄå ÜÈåÒôæ²µå 

 (b) 30 Äð²ìåê ƒ¼åÏÁ·™’å, ÇÈåÐ½›åÒ ð̄²ìåêÑ–ÓÄå  
ÔæßåÄå ÜÈåÒôæ²µå 

 (c) 85 Äð²ìåê ƒ¼åÏÁ·™’å, ÇÈåÐ½›åÒ ð̄²ìåêÑ–ÓÄå 
ÔæßåÄå ÜÈåÒôæ²µå 

 (d) 98 Äð²ìåê ƒ¼åÏÁ·™’å, ÇÈåÐ½›åÒ ð̄²ìåêÑ–ÓÄå 
ÔæßåÄå ÜÈåÒôæ²µå 

 

32. Á™ÖÔåêê• ÜÈåÒôæ²µåÁµå ²µåÜÈð¾²ìåêÑ–Ó §ÒÁµåê ÅÁ·™¤ÚÈå± 
Á™“”ÄåÑ–Ó ÔæßåÄå̃ µåâÿåê 50 “.Õêé µ̃åÒ ð̄²ìåê 
ÜÝÀ²µå Ôðé µ̃åÁµåÑ–Ó 2.52 ÜÈð’ðÒ µ́ó µ̃åâÿå 
’æÑæÔå’æ×åÁµðëÒÁ™̃ µð ôåÑ–ÜÈåê½¾Ôð. Š²µǻ µåê 
ƒÄåê’åÐÔåêÔæÁµå ÔæßåÄå̃ µåâÿå Äǻ µåêÕÄå 
ƒÄåêÑÒÊ ƒÒ¼å²µå, Õêé.ÄåÑ–Ó _____  

 (a) 30 (b) 42 

 (c) 38 (d) 35 

 

33. §ÒÁµåê ÅÁ™¤ÚÈå± Ôå µ̃å¤Áµå ²µåÜÈð¾ ÕÄæÏÜÈå’æ” ™̃ 
Ôðé˜µåÔåÄåêÆ Å˜µåÁ™ÇÈǻ ™ÜÈåêÔæ˜µå, Ôðé˜µåÔåíú 
_____ ˜µð ÜÈåÒÔæÁ™²ìåìæ ™̃²µåê¼å¾Áµð.  

 (a) 98
 Äðé ×ðé’å µ́å’å 

 (b) 85 Äðé ×ðé’ǻ µå’å 

 (c) 50 Äðé ×ðé’ǻ µå’å 

 (d) 15 Äðé ×ðé’ǻ µå’å 
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27. If the length of a rail is 13 

metres, the number of rails 

required for a 0.5 km stretch is 

 (a) 78 (b) 40 

 (c) 39 (d) 76 

 

28. Name the traffic survey data 

which is plotted by means of 

‘desire’ lines is 

 (a) Speed and delay study 

 (b) Classified volume study 

 (c) Accident study 

 (d) Origin and destination 

study 

 

29. The order in which the 

correction is to be applied to a 

runway is  

 (a) Correction due to 

elevation, correction due to 

temperature, combined 

correction, correction due 

to gradient 

 (b) Correction due to gradient, 

correction due to elevation, 

combined correction, 

correction due to 

temperature  

 (c) Combined correction, 

correction due to elevation, 

combined due to gradient, 

correction due to 

temperature 

 (d) Correction due to 

temperature,  correction 

due to elevation, combined 

correction, correction due 

to gradient 

30. The basic runway length in an 

airport is 1000 metres. If the 

airport is located at an elevation 

of 410 metres, the corrected 

length of runway after 

correction in metres is  

 (a) 1030.5 (b) 1090.6 

 (c) 1095.6 (d) 1089.6 

 

31. The road geometrics in India are 

designed for 

 (a) 50
th
 highest hourly traffic 

 (b) 30
th
 highest hourly traffic 

 (c) 85
th
 highest hourly traffic 

 (d) 98
th
 highest hourly traffic 

 

32. A traffic stream in a particular 

direction of a two lane road                   

is moving with a constant speed 

of 50 km per hour with an 

average headway of 2.52 

seconds. The longitudinal 

distance between two 

consecutive vehicles in metres 

is  

 (a) 30 (b) 42 

 (c) 38 (d) 35 

 

33. While fixing design speed for a 

particular category of road, 

speed corresponds to  

 (a) 98
th
 percentile 

 (b) 85
th
 percentile 

 (c) 50
th
 percentile 

 (d) 15
th
 percentile 
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34. §ÒÁµåê ¨ÑðÓ²ìåêÑ–Ó Š,Ê–,ÜÝ ŠÒÊ Ôåêë²µåê 
²µåÜÈð¾̃ µåâÿåÄåêÆ ²ìðëé¨ÜÈåÑæ˜™Áµð. † ²µåÜÈð¾ µ̃åâÿå 
Áµå¼å¾Ôåìæà½²ìåêÄåêÆ ’ðâÿå ™̃Äå ’ðëéÚÈå±’åÁµåÑ–Ó 
Åé´µåÑæ˜™Áµð. µ̃å²™ÚÈå³ Êâÿå’ð²ìåê ¼å¼åÖÁµå 
„Á·µæ²µåÁµå ÔðêéÑð, ²µåÜÈð¾ µ̃åâÿå ÇÈæÐÁ·µæÄåÏ¼æ 
’åÐÔåêÔåÄåêÆ ’åÒ´µåê à´™Îê²™. 

²µåÜÈð¾ 
‡ÁµåÂ 
“.Õêé. 

¦ÄåÜÈåÒ•ÿðÏ²ìðëÒÁ™˜µð 
˜µæÐÔåê˜µåâÿå ÜÈåÒ•ÿðÏ 

<2000 
2000-

5000 
>5000 

A 48 18 16 10 

B 28 19 8 6 

C 12 17 15 2 

’ðëéÚÈå³’å 

 (a) A B C (b) B C A 

 (c) C A B (d) C B A 

 

35. Š Ôåê¼åê¾ Ê– ƒ µ́å¶²µåÜÈð¾̃ µåâÿå ÔðêéÑð ÔåìæÁµå²™ 
ƒÔåÁ·™²ìåêÑ–Ó ÜÈå²µæÜÈå²™ ÜÈæÔåìæÄåÏ ÜÈåÒôæ²µå ÇÈåÐ½ 
›åÒ ð̃̄ µð 400 Ôåê¼åê¾ 250 ÇÝÜÝ²ìåêê. † 
²µåÜÈð¾̃ µåâÿå ÔðêéÑ–Äå ÜÈæÏôåê²µðéÚÈåÄó Ç·ÈðùîúÓé 
ÔåìòÑÏ̃ µåâÿåê ÇÈåÐ½›åÒ ð̃̄ µð ƒÄåê’åÐÔåêÔæ ™̃ 
1250 Ôåê¼åê¾ 1000 ÇÝÜÝ²ìåêê ÇÈæÁµåôæ²™̃ µåâÿå 
²µåÜÈð¾ Áµæ®Ñê Êðé’æÁµå ŠÑæÓ ’ðÒÇÈåíú ƒÔåÁ·™ 
ÜÈåÔåê²ìåê 12 ÜÈð’ðÒ µ́åê µ̃åâÿåê. „Áµå×å¤ ÜÝ̃ µåÆÑó 
ÜÈðñ’åÑó _____.   

 (a) 66.4 ÜÈð’ðÒ´µåê µ̃åâÿåê 

 (b) 68.4 ÜÈð’ðÒ´µåê µ̃åâÿåê 

 (c) 67.4 ÜÈð’ðÒ´µåê µ̃åâÿåê 

 (d) 65.4 ÜÈð’ðÒ´µåê µ̃åâÿåê 

36. Œ„²µó ÜÝ ƒÄåêÊÒÁ·µåÁµå ÇÈåÐ’æ²µå õŠÜÈó ™́ 
ÔåìòÑÏÔåìæÇÈåÄå Ôåìæ´µåÑê ôæÑ’åÄå 
ÇÈåÐ½“Ð²ìðê²ìåê ÜÈåÔåê²ìåê _____.  

 (a) 2.5 ÜÈð’ðÒ µ́åê µ̃åâÿåê (b) 2.0 ÜÈð’ðÒ µ́åê µ̃åâÿåê 

 (c) 3.0 ÜÈð’ðÒ µ́åê µ̃åâÿåê (d) 0.7 ÜÈð’ðÒ µ́åê µ̃åâÿåê 

 

37. ’å£ðé²™ ’å®±́ µå’æ”˜™, ƒÇÈðé“Û¼å ÔæßåÄå 
ÅÑê˜µå µ́ð ÜÈåÀâÿå ÇÈåÐÔåìæ¸’åÔåíú _____.  

 (a) ÇÈåÐ½ 70 Õêé.2˜µåâÿå ÄðÑ ÕÜÝ¾é¸¤’ð” 
§ÒÁµåê ÔæßåÄå ÅÑê˜µå´µð ÜÈåÀâÿå 

 (b) ÇÈåÐ½ 80 Õêé.2˜µåâÿå ÄðÑ ÕÜÝ¾é¸¤’ð” 
§ÒÁµåê ÔæßåÄå ÅÑê˜µå´µð ÜÈåÀâÿ 

 (c) ÇÈåÐ½ 60 Õêé.2˜µåâÿå ÄðÑ ÕÜÝ¾é¸¤’ð” 
§ÒÁµåê ÔæßåÄå ÅÑê˜µå´µð ÜÈåÀâÿ 

 (d) ÇÈåÐ½ 50 Õêé.2˜µåâÿå ÄðÑ ÕÜÝ¾é¸¤’ð” 
§ÒÁµåê ÔæßåÄå ÅÑê˜µå´µð ÜÈåÀâÿ 

 

38. Š²µǻ µåê ÑðéÄó µ̃åâÿå µ̃å²™ÚÈå³ ÜÈæÔåêÁ¿·µåùÏ¤ ÇÈåÐ½ µ̃åÒ ð̄ µ̃ð 
2000 ÔæßåÄå̃ µåâÿåê. Áµå®±¹ð ÇÈå²™ÜÝÀ½²ìåêÑ–Ó 
ÔæßåÄå̃ µåâÿå ÜÈå²µæÜÈå²™ ‡ÁµåÂ 6.25 „ ™̃ÁµåÂ²µð, Š²µǻ µåê 
ÑðéÄó ̃ µåâÿå Áµå®±¹ð ÜÈæÒÁµåÐ¼ð _____  

 (a) 160 (b) 320 

 (c) 80 (d) 300 

 

39. ÜÈæ µ̃å²µåÁµå Åé²™Äå ‡ÊÌ²µå-…â–¼å’ð” ’æ²µå̧  _____ 

 (a) ôåÒÁµåÐÅÒÁµæ µ̃åêÔå ÊÑ 

 (b) ÜÈåë²ìåê¤ÅÒÁµæ˜µåêÔå ÊÑ 

 (c) ˜µåê²µåê¼æÖ’åÚÈå¤¹ðÎêÒÁµæ µ̃åêÔå ÊÑ 

 (d) ÜÈåë²ìåê¤ Ôåê¼åê¾ ôåÒÁµåÐ²µå „’åÚÈå¤¹ð²ìåê 
ƒÄðëÏéÄåÏ ÇÈåÐÊ·æÔåÁ™ÒÁµæ µ̃åêÔå ÊÑ, 
µ̃åê²µåê¼æÖ’åÚÈå¤¹ðÎêÒÁµæ µ̃åêÔå ÊÑ 

Ôåê¼åê¾ ’ðéÒÁµæÐÇÈå̃ µæÕê ÊÑ  
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34. Three roads A, B, C are planned 

in a district. The data for these 

roads is given in the  below 

table. Based on the principle of 

maximum utility, find the 

priority order of the roads. 

Road 
Length 

in km 

No. of villages with 

population 

<2000 
2000-

5000 
>5000 

A 48 18 16 10 

B 28 19 8 6 

C 12 17 15 2 

Table 

 (a) A B C (b) B C A 

 (c) C A B (d) C B A 

 

35. The average normal flow of 

traffic on cross roads A and B 

during design period are 400 

and 250 PCU per hour. The 

saturation flow values on these 

roads are estimated to be 1250 

and 1000 PCU per hour 

respectively. The all red time 

required for pedestrian crossing 

is 12 seconds. The optimum 

signal cycle is  

 (a) 66.4 seconds 

 (b) 68.4 seconds 

 (c) 67.4 seconds 

 (d) 65.4 seconds 

36. The reaction time of a driver to 

evaluate OSD as per IRC 

provision is  

 (a) 2.5 seconds (b) 2.0 seconds 

 (c) 3.0 seconds (d) 0.7 seconds 

 

37. Desirable parking space 

standards for office building is  

 (a) one parking space for every          

70 m2 of floor area. 

 (b) one parking space for every          

80 m2 of floor area. 

 (c) one parking space for every          

60 m2 of floor area. 

 (d) one parking space for every          

50 m2 of floor area. 

 

38. The maximum capacity of two 

lane is 2000 vehicles / hour. If 

the average length of the vehicle 

during jamming condition is 

6.25, the jam concentration for 

the two lane is  

 (a) 160 (b) 320 

 (c) 80 (d) 300 

 

39. The rise and fall of water in the 

sea is due to 

 (a) force due to Moon 

 (b) force due to Sun 

 (c) force due to gravity 

 (d) force due to interplay of 

sun and moon attraction, 

force due to gravity and 

centrifugal forces  
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40. Š¼å¾²µå Ôåê¼åê¾ ‡ÚÈå»¼ð²ìåê ÜÈåÒ²ìðëé¨¼å 
½ÁµåêÂÇÈǻ ™²ìåêê _____ „˜™²µå¼å’å”ÁµåêÂ.  

 (a) > 35% (b) < 35% 

 (c) 15% (d) > 45% 

 

41. Š²µǻ µåÄð²ìåê ÇÈåÒôåÔæÚÝ¤’å ²ìðëé¦Äð²ìåêÑ–Ó 
Ôåêë²µåê ÔåÜÈå½ ²ìðëé¦Äð̃ µåâÿåÄåêÆ 
ÇÈå²™ôåÎêÜÝÁµåêÂ ƒÁµå²µåÑ–Ó 1. µ̃æÐÕêé¸ ÔåÜÈå½, 
2. ’ðëâÿåôð ÅÔåêë¤ÑÄð. 3. Äð²ìåêÁµåê _____  

 (a) ¦ÿæ´µåÔåìæÑ– µ̃åâÿå ÔåÜÈå½ 

 (b) Ê–·’åêÛ’å²µå ÔåÜÈå½ 

 (c) ²µðñ¼å²µå ÔåÜÈå½ 

 (d) ’ðÑÜÈå µ̃æ²µå²µå / ’æÕê¤’å²µå ÔåÜÈå½ 

 

42. 1988 ²µåÑ–Ó ÔåÜÈå½ ’ðÛé¼åÐ’ð” „Á¿·™¤’å 
Äð²µåÔåÄåêÆ §Áµå ™̃ÜÈåÑê ƒÄåêÔæ˜µåêÔåÒ¼ð 
Ê·æ²µå¼å ÜÈå’æ¤²µåÔåíú † ’ðâÿå ™̃Äå ²ìåìæÔå 
ÇÈåÐÔåêê• ÜÈåÒÜÈðÀ²ìåêÄåêÆ ÜÈæÀÇÝÜÝ¼åê. 

 (a) ÔåÜÈå½ Ôåê¼åê¾ Äå̃ µå²µæÊ–·ÔåïÁ™ÂÃ Å µ̃åÔåê (HUDCO) 

 (b) ²µæÚÝ±øé²ìåê ÔåÜÈå½ ÊæÏÒ’ó (NHB) 

 (c) ÜÈð±é¯ó ÊæÏÒ’ó „Ç·Èó …Ò´™²ìåìæ 

 (d) ²™ÜÈåÔó¤ ÊæÏÒ’ó „Ç·Èó …Ò´™²ìåìæ 

 

43. ’å®±́ µå ‡ÇÈå-ÕÁ·™ µ̃åâÿåÑ–Ó TDR ŠÒÁµå²µð ²ìåìæÔåíúÁµåê ? 

 (a) ÜÈæ˜µå¹ð ƒÊ–·ÔåïÁ™ÂÃ ÔåÑ²ìåê µ̃åâÿåê 

 (b) §¯æ±²µð ƒÊ–·ÔåïÁ™ÂÃ ßå’åê”˜µåâÿåê 

 (c) Ôå˜µæ¤Ôå¹ð²ìåê ƒÊ–·ÔåïÁ™ÂÃ ßå’åê”˜µåâÿåê 

 (d) ÜÈåÒôæ²™ Áµå®±¹ð ƒ µ̃å¼åÏ¼ð˜µåâÿåê 

44. 2005 ²µåÑ–Ó Ê·æ²µå¼å ÜÈå’æ¤²µåÁ™ÒÁµå 
˜µæÐÕêé¸ ÔåêëÑ ÜÈò’å²ìåê¤                
ƒÊ–·ÔåïÁ™ÂÃ µ̃æ˜™ §ÒÁµåê Êïßå¼ó ²ìðëé¦Äð / 
’æ²ìåê¤’åÐÔåêÔåÄåêÆ „²µåÒÊ–·ÜÈåÑæ˜™ÁµåêÂ, 
ƒÁµåê † ’ðâÿå˜™Äå ²ìåìæÔåíúÁµæ˜™Áµð ? 

 (a) UN ßæÏÊ– ð̄é¯ó Ôæ®ÞÄó 
’æ²ìåê¤’åÐÔåê 

 (b) Ê´µåÔå²™ µ̃æ˜™ Äå µ̃å²µå ÔåêëÑÊ·åë¼å 
ÜÈò’å²ìåê¤˜µåâÿåê (UBSP) 

 (c) Ê·æ²µå¼å ÅÔåìæ¤¸ 

 (d) ²µæÚÝ±øé²ìåê ÜÈæÔåìæÄåÏ ’åÅÚÈå³ 
’æ²ìåê¤’åÐÔåê (NCMP) 

 

45. ƒ²µå̧ Ï ÔåÜÈå½ ²ìðëé¦Äð²ìåêÄåêÆ ’ǻ ™Ôðê 
„Áµæ²ìåê ßðëÒÁ™²µåêÔåÔå²™˜µð ÅÔðé×åÄå 
ßæ˜µåë ƒÁµå²µå ÜÈðéÔð˜µåâÿðëÒÁ™˜µð ÕÄæÏÜÈå 
˜µðëâ–ÜÝÁµåêÂ, …ÁµåÄåêÆ † ’ðâÿå ™̃Äå ²ìåìæÔå 
ÇÈå®±¸ÁµåÑ–Ó ÜÈæÀÇÝÜÈåÑæÎê¼åê ? 

 (a) ÁµðßåÑ– (b) ƒßåÔåêÁµæÊæÁµó 

 (c) ¦ÊÑóÇÈåíú²µå (d) …ÒÁµðëé²µó 

 

46. 1970 ²µåÑ–Ó Ê·æ²µå¼å ÜÈå’æ¤²µåÔåíú ÔåÜÈå½ 
Ôåê¼åê¾ Äå µ̃å²µå Ê´µå¼åÄå ÅÔåêë¤ÑÄð 
ÔåêÒ¼æÐÑ²ìåê (MoHUPA) Áµå ƒ´™²ìåêÑ–Ó 
§ÒÁµåê ÜÈæÔå¤¦Å’å ÔåÑ²ìåê 
’åÒÇÈåÅ²ìåêÄåêÆ ÜÈæÀÇÝÜÝÁµåêÂ, ƒÁµåê † 
’ðâÿå ™̃Äå ²ìåìæÔåíúÁµåê „˜™Áµð ? 

 (a) Ôåêßæ²µæÚÈå±ø ÔåÜÈå½ Ôåê¼åê¾ ÇÈåÐÁµðé×æ  
Ê–·ÔåïÁ™ÂÃ ÇÈæÐÁ·™’æ²µå (MHADA) 

 (b) ÔåÜÈå½ Ôåê¼åê¾ Äå µ̃å²µæÊ–·ÔåïÁ™ÂÃ Å˜µåÔåê 
(HUDCO) 

 (c) ’åÄæ¤®’å µ̃åïßå ÔåêÒ´µåâ– (KHB) 

 (d) Äå˜µå²µå Ôåê¼åê¾ ’ðñ µ̃æ²™’æ ƒÊ–·ÔåïÁ™ÂÃ 
Å˜µåÔåê (CIDCO) 
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40. The combined correction due to 

elevation and temperature must 

be  

 (a) > 35% (b) < 35% 

 (c) 15% (d) > 45% 

 

41. Second five year plan 

introduced three housing 

schemes 

 1. Rural Housing 

 2. Slum clearance 

 3. was _______ 

 (a) Sweepers housing 

 (b) Beggars housing 

 (c) Farmers housing 

 (d) Workers housing 

 

42. In 1988 an important institution 

was setup by Govt. of India to 

provide finance for housing 

 (a) Housing and Urban 

Development Corporation 

(HUDCO) 

 (b) National Housing Bank 

(NHB) 

 (c) State Bank of India 

 (d) Reserve Bank of India 

 

43. TDR in building byelaws means 

 (a) Transit Development 

Regions 

 (b) Total Development Rights 

 (c) Transferable Development 

Rights 

 (d) Traffic Density Requirements 

44. A major program for rural 

infrastructure development was 

launched in India in 2005 by 

Govt. of India that was 

 (a) UN Habitat WATSAN 

Program 

 (b) Urban Basic Services for 

the Poor (UBSP) 

 (c) Bharat Nirman 

 (d) National Common Minimum 

Program (NCMP) 

 

45. Aranya housing project 

designed as low income housing 

with site and services idea is 

located in which town ? 

 (a) Delhi (b) Ahmedabad 

 (c) Jabalpur (d) Indore 

 

46. In 1970 by the Government of 

India setup one Public Sector 

Company, under the Ministry of 

Housing and Urban Poverty 

Alleviation (MoHUPA) that is  

 (a) Maharashtra Housing and 

Area Development Authority 

(MHADA) 

 (b) Housing and Urban 

Development Corporation 

(HUDCO) 

 (c) Karnataka Housing Board 

(KHB) 

 (d) City and Industrial 

Development Corporation 

(CIDCO) 
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47. ²µæÚÝ±øé²ìåê ’å®± µ́å ÜÈåÒà¼ð 2005 ²µå 

ÇÈåÐ’æ²µåÔæ˜™ ‘Ôð¯ó ²µðñÜÈå²µó’ ŠÒÁµå²µð † 
’ðâÿå ™̃Äå ²ìåìæÔåíúÁµåê „˜™Áµð ?  

 (a) Ôðê°±Ñê˜µåâÿåÑ–Ó §Áµå˜™ÜÝÁµå ƒÁ·™’å 

’ðëâÿåÔð (riser) 

 (b) ƒ˜™Æ ßðë²µåßæ’åêÔå          
Ôðê°±Ñê˜µåâÿåÑ–ÓÄå ’ðëâÿåÔð˜µåâÿåê 

 (c) ƒ˜™Æ ÜÈæÔåê’å ²¿µæ¹ð²ìåêÑ–Ó Åé²™Äå 
õ¼å¾́ µåÁµå ÇÈåî²µðñ’ð²ìðëÒÁ™ µ̃ð 
•ÿæ²ìåêÒ „˜™²µåêÔå ÇÈåÐ½²ìðëÒÁµåê 
Ôåêßå´™ ÄðÑÁµå ÔðêéÑð ÄðÑÁµå 
ÔåìòÑÏ˜µåâÿðëÒÁ™̃ µð 100 mm 
´µå²ìåìæÕêé®²µó˜™Ò¼å ’å´™Ôðê 
…²µåÁµåÒ¼ð ÑÒÊ·æ’åï½²ìåêÑ–Ó          
ÅÑ–ÓÜÈåêÔå ÔåêëÑ’å ’å®± µ́åÁµå §âÿå µ̃ð 
ƒ˜™Æ×æÔåê’å …²µåêÔåíúÁµå’ð” Ôåìæ ™́Áµå 
§ÒÁµåê ÔåÏÔåÜÈðÀ 

 (d) ƒ˜™ÆÎêÒÁµå ¼åÇÝÉÜÝ’ðëâÿåêäÔå 
Ôðê°±Ñê˜µåâÿåê 

 

48. Á™éÇÈå’ó ÇÈå²µðé•ÿó ÜÈåÕê½ Ôå²µåÁ™²ìåê 
ƒÄåêÜÈæ²µå „Á¿·™¤’åÔæ˜™ àÒÁµåêâ–Áµå Ôå µ̃å¤ 
(EWS) / ’ǻ ™Ôðê „Áµæ²ìåê ˜µåêÒÇÈåíú (LIG) 
…²µåêÔåÔå²µå §ÒÁµåê ÔåêÄð²ìåê ÔåìæÁµå²™ 
’æÇÈð¤¯ó ÇÈåÐÁµðé×å ŠÚÈåê± „˜™Áµð ? 

 (a) 30-60 ôå.Õêé. 

 (b) 45-70 ôå.Õêé. 

 (c) 15-30 ôå.Õêé. 

 (d) 50-100 ôå.Õêé. 

49. ÔåÜÈå½ Ôåê¼åê¾ ƒÁµå²µå ÔåìæÁµå²™ ÕÁ·µæÄåÔåÄåêÆ 
ßðëÒÁ™ÜÝ Ê²µðÎê²™. 

A. ̃ µ åê¦²µæ¼ó 
²µæ¦ÏÁµå ²µåÜÈå 
˜µðëÊÌ²µå˜µåâÿå 
Å˜µåÔåêÁµå ¯òÄó 
ÚÝÇÈó 

1. ÜÈæÔå¤¦Å’å 
ÔåÑ²ìåêÁµå ÔåÜÈå½ 

B. ‹ÜÝ²ìåìæ´µó 
˜µæÐÔåê 

2. ’ðñ˜µæ²™’æ 
ÔåÑ²ìåêÁµå 
¯òÄóÚÝÇÈó  

C. ¨éÔåÄó Ê–éÔåìæ 
Äå˜µå²µå ÔåÜÈå½, 
ÊðÒ˜µåâÿåë²µåê 

3. ÜÈæÒÜÝÀ’å ÔåÜÈå½ 

D. IIM 4. “Ðé´µæ ÔåÜÈå½ 

  A B C D 

 (a) 1 3 4 2 

 (b) 4 1 2 3  

 (c) 2 4 1 3 

 (d) 3 2 4 1  

 

50. ’å®±´µåÁµå ÅÕê¼å ÇÈåÐÁµðé×åÔåÄåêÆ † ’ðâÿå’åÒ µ́å 
²ìåìæÔåíúÁµå²™ÒÁµå ÅÁ·µå¤²™ÜÈåÑæ˜µåêÔåíúÁµåê. 

 (a) Ç·ÈðùîúÓé²µó ‹²™²ìåìæ ƒÄåêÇÈæ¼å 
(FAR) 

 (b) ƒÄåêÔåê½ÜÈåÊßåêÁµæÁµå ÄðÑæÔåï¼å 
Ê·æ˜µå 

 (c) ÜÈð¯óÊæÏ’ó˜µåâÿåê 

 (d) Š¼å¾²µåÁµå Õê½˜µåâÿåê 
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47. As per National Building Code 

2005, what is ‘Wet Riser’ in a 

building means ?  

 (a) Extra riser provided in 

staircase 

 (b) Risers in fire exit staircase 

 (c) An arrangement for fire- 

fighting within the 

building by means of 

vertical rising mains of not 

less than 100 mm diameter 

with landing valves          

on each floor/landing 

permanently charged with 

water from a pressurized 

supply. 

 (d) Fire escape staircase 

 

48. As per Deepak Parekh 

committee report, what is the 

standard carpet area of one 

Economically Weaker Section 

(EWS) / Low Income Group 

(LIG) house ? 

 (a) 30-60 sq.mt. 

 (b) 45-70 sq.mt. 

 (c) 15-30 sq.mt. 

 (d) 50-100 sq.mt. 

49. Match the type of name of 

housing and its type : 

A. Gujarat State 

Fertilizers 

Corporation 

Township 

1. Public 

sector 

housing 

B. Asiad 

Village 

2. Industrial 

township 

C. Jeevan 

Beema 

Nagar 

Housing, 

Bangalore 

3. Institutional 

housing 

D. IIM 4. Sports 

housing 

  A B C D 

 (a) 1 3 4 2 

 (b) 4 1 2 3  

 (c) 2 4 1 3 

 (d) 3 2 4 1  

 

50. Built up area of building is 

determined by 

 (a) Floor Area Ratio (FAR) 

 (b) Permissible ground 

coverage 

 (c) Setbacks 

 (d) Height limits 
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51. ÊðÒ˜µåâÿåë²µåê Äå µ̃å²µåÁµåÑ–Ó ÜÈæÔåìæ¨’å 

ÔåÜÈå½²ìåê ÔåìæÁµå²™/‡Áµæßå²µå¹ð/ÅÁµå×å¤Äå 

²ìåìæÔåíúÁµåê ?  

 (a) ÔåêÑðÓé×åÖ²µåÒ 

 (b) ôæÔåê²µæ¦ÇÈðé ð̄ 

 (c) Ñ˜µðš²µð BSUP 2nd phase 

 (d) ÊÜÈåÔåÄå µ̃åê´™ 

 

52. 1976 ²µåÑ–Ó Äå˜µå²µå ÇÈåÐÁµðé×å˜µåâÿåÑ–Ó 

Ê·åëÕê²ìåêÄåêÆ ¼åÔåêÍÑ–Ó §®ê±˜µåë ™́ÜÝ 

’ðëâÿåêäÔåíúÁµåÄåêÆ Å²ìåêÒ½ÐÜÈåÑê / ¼ǻ µð²ìåêÑê 

ßæ˜µåë ÔåêÁ·µåùÏÔåê Ôåê¼åê¾ ’ǻ ™Ôðê „Áµæ²ìåê 

ßðëÒÁ™Áµå ˜µåêÒÇÈåíú˜µåâ–˜µð ÔåêÄð˜µåâÿåÄåêÆ 

ÅÕê¤ÜÈåÑê Äå µ̃å²µåÁµå Ê·åëÕê²ìåêê 

ÑÊ·åùÏÔæ˜µåêÔåÒ¼ð Ôåìæ´µåÑê §ÒÁµåê 

ƒÁ·™Å²ìåêÔåêÔåÄåêÆ ¦ÿæ²™ µ̃ð ¼å²µåÑæÎê¼åê. 

ƒÁµåê † ’ðâÿå̃ ™ÄåÔåíú µ̃åâÿåÑ–Ó ²ìåìæÔåíúÁµæ ™̃Áµð ? 

 (a) Äå˜µå²µå Ê·åëÕê 

(ÇÈå²™Õê½/„²µðëéßå¸ Õê½ Ôåê¼åê¾ 

Å²ìåêÒ¼åÐ¸) ƒÁ·™Å²ìåêÔåê 

 (b) Ê·åëÜÈæÖÁ·™éÄå ÇÈåíúÄåÔå¤ÜÈå½ Ôåê¼åê¾ 

ÇÈåíúÄå²µó ÄðÑð˜µðëâ–ÜÈåêÕ’ð 

ƒÁ·™Å²ìåêÔåê 

 (c) Ê·åë ÄðëéÒÁµåº ƒÁ·™Å²ìåêÔåê 

 (d) Ôåìæà½ ßå’åê” ƒÁ·™Å²ìåêÔåê 

53. ƒÒ¼åÔð¤é×åÄå ÔåÑ²ìåê ŠÒÁµå²µðéÄåê ? 

 (a) ÜÈæ’åÚÈåê± ÔåÜÈå½ ÅÕê¤ÜÈåÑê ÕêéÜÈåÑ–
²™ÜÝ²µåêÔå Äå˜µå²µåÁµå ÔåìæÜÈå±²µó ÇÈæÓÄó 
ƒ´™²ìåêÑ–Ó Ê²µåêÔå ÔåÑ²ìåê 

 (b) ÜÈæÔåìæ¨’å ÔåêëÑ ÜÈò’å²ìåê¤˜µåâ–
˜µæ˜™ ˜µå ™́ µ̃åê²µåê¼åê Ôåìæ ™́Áµå 
ÔåÑ²ìåê˜µåâÿåê 

 (c) Õê×åÐ Êâÿå’ð ÔåÜÈå½ ƒÊ–·ÔåïÁ™ÂÃ µ̃æ ™̃ 
˜µå ™́ ˜µåê²µåê¼åê Ôåìæ´™Áµå ÔåÑ²ìåê˜µåâÿåê 

 (d) ’å ™́Ôðê ßæ˜µåë Õê¼å „Áµæ²ìåêÁµå 
¦Äå²™˜µð ßðëÜÈå ÅÔåìæ¤¸˜µåâÿåÑ–Ó 
ÜÈæ’åÚÈåê± ²™é½²ìåê ÇÈæÑÄåêÆ 
Åé´µåêÔåíúÁµå’ð” ƒ˜µå¼åÏÔæÁµå 
ÇÈò²µæ´µåâ–¼å ßæ˜µåë Äå˜µå²µå 
²ìðëé¦Äð ƒÁ·µæÏÁµðé×å µ̃åâÿåê / 
ÜÈåê˜™ÐéÔæ¦ÿðö µ̃åâÿåê 

 

54. §ÒÁµåê ÅÔðé×åÄåÁµå ÇÈæÓ¯ó ÇÈåÐÁµðé×åÔåíú 
5000 ôå.Õêé. „˜™ÁµåêÂ, 
ƒÄåêÔåê½ÜÈåÊßåêÁµæÁµå FAR 2.50 Ôåê¼åê¾ 
§ÇÈåÉÊßåêÁµæÁµå ÄðÑæÔåï¼å ÇÈåÐÁµðé×åÔåíú ×ðé. 
50 ²µåÚÈåê± …ÁµåÂ²µð, ’å®±́ µåÔåíú §®ê± ŠÚÈåê± 
Ôåêßå´™ µ̃åâÿåÄåêÆ ßðëÒÁµåÊßåêÁµåê ?  

 (a) 8 (b) 6 

 (c) 5 (d) 3 

 

55. CAD ÄåÑ–Ó Äå’ðÛ µ̃åâÿåÄåêÆ † ’ðâÿå ™̃Äå ²ìåìæÔå 
’åÐÔåê ÔåÏÔåÜÈðÀ²ìåêÑ–Ó ÜÈåÒ µ̃åÐàÜÝ µ́åÑæ µ̃åêÔåíúÁµåê ? 

 (a) ²µæÜÈå±²µó …Ôðêé¦ÿó 

 (b) Ôð’å±²µó …Ôðêé¦ÿó 

 (c) JPEG 

 (d) ÇÝ’ðÞÑó˜µåâÿåê 
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51. Example of social housing in 

Bangalore city 

 (a) Malleshwaram 

 (b) Chamrajpete 

 (c) Laggere BSUP 2
nd

 phase 

 (d) Basavanagudi 

 

52. In 1976 an Act was enacted to 

prevent concentration of land 

holding in urban areas and to 

make available urban land for 

construction of houses for the 

middle and low income groups. 

The act was  

 (a) The Urban Land  (Ceiling 

and Regulation) Act 

 (b) Land Acquisition 

Rehabilitation and 

Resettlement Act 

 (c) Land Registration Act 

 (d) Right to Information Act 

53. What is inclusionary zoning ? 

 (a) Zoning under master plan 

of a city which is reserved 

for affordable housing. 

 (b) Zones demarcated for 

social amenities. 

 (c) Zones demarcated for 

mixed use housing 

development. 

 (d) Municipal and country 

planning ordinances that 

require a given share of 

new construction be 

affordable to people with 

low to moderate incomes. 

 

54. If the plot area is 5000 sq. mts. 

and allowable FAR is 2.50 and 

allowable ground cover is 50% 

then total number of floors the 

building will have is  

 (a) 8 (b) 6 

 (c) 5 (d) 3 

 

55. In CAD the drawings are stored 

in which format ? 

 (a) Raster image 

 (b) Vector image 

 (c) JPEG 

 (d) Pixels 
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56. ²µæÚÝ±øé²ìåê ’å®± µ́å ÜÈåÒà¼ð 2005 ²µå 
ƒÄåêÜÈæ²µåÔæ˜™ ƒ½ Š¼å¾²µåÁµå ’å®±́ µåÔðÒÁµåê 
’å²µð²ìåêÑæ˜µåêÔå §ÒÁµåê ’å®±´µå’ð” ’åÅÚÈå³ 
ÇÈåÐÔåìæ¸Áµå Š¼å¾²µå ŠÚÈåê± …²µåêÔåíúÁµåê ƒ µ̃å¼åÏ ? 

 (a) 21 Õêé®²µåê˜µåâÿåê 
 (b) 36 Õêé®²µåê˜µåâÿåê 
 (c) 15 Õêé®²µåê˜µåâÿåê 
 (d) 45 Õêé®²µåê˜µåâÿåê 
 

57. Ê·æ²µå¼åÁµåÑ–Ó Ê·åëÕê ŠÒÊêÁµåê † ’ðâÿå ™̃Äå 
²ìåìæÔåíúÁµå’ð” §âÿåÇÈå°±²µåê¼å¾Áµð ? 

 (a) ²µæ¦Ï 
 (b) ÇÈò²µæ´µåâ–¼å Å˜µåÔåê 
 (c) ¨ÑæÓ´µåâ–¼å 
 (d) ’ðéÒÁµåÐ ÜÈå’æ¤²µå 
 

58. ÊðÒ˜µåâÿåë²™ÄåÑ–Ó ÜÈð®Ñðñ¯ó ¯òÄóÚÝÇÈóÄå 
‡Áµæßå²µå¹ð ŠÑ–ÓÁµð ?  

 (a) ²ìåêÑßåÒ’å ÄåëÏ¯òÄó 
 (b) Ôðñ¯ó Ç·ÝéÑó¶ 
 (c) BTM ÑðéË¯ó 
 (d) ÇÝé¸Ï ’ðñ̃ µæ²™’æ ÇÈåÐÁµðé×å 
 

59. Ê·æ²µå¼å ÜÈå’æ¤²µåÁµå ÔåÜÈå½ Ôåê¼åê¾ Äå˜µå²µå 
Ê´µå¼åÄå ÅÔåêë¤ÑÄð (MoHUPA), 
ÔåêÒ¼æÐÑ²ìåêÔåíú Ê´™¶ ÜÈåßæ²ìåê Á·µåÄå 
²ìðëé¦Äð²ìåêÄåêÆ ÇÈå²™ÚÈå”²™ÜÝÁµåêÂ, ƒÁµåÄåêÆ 
† ’ðâÿå̃ ™Äå ²ìåìæÔå Ôåê²µåê ßðÜÈå²™ÅÒÁµå 
’å²µð²ìåêÑæ˜µåê½¾Áµð ? 

 (a) …ÒÁ™²µæ „ÔæÜÈó ²ìðëé¦Äð 
 (b) ²µæ¨éÔó ²™Äó ²ìðëé¦Äð (RRY) 
 (c) ’ðëâÿåôð ÇÈåíúÄåÔå¤ÜÈå½ ²ìðëé¦Äð 
 (d) Ôåêßæ¼åÍ µ̃æÒÁ·™ ²µæÚÝ±øé²ìåê µ̃æÐÕêé¸ 

‡ÁµðëÏé µ̃å •ÿæ½Ð ²ìðëé¦Äð 

60. ÊðÒ˜µåâÿåë²™Äå 2015²µå ÇÈå²™ÚÈå”þï¼å 
ÔåìæÜÈå±²µó ÇÈæÓÄóÄå ÔåÑ²ìåê ÕÅÔåê²ìåê µ̃åâÿå 
ƒÄåêÜÈæ²µå † ’ðâÿå˜™Äå ²ìåìæÔåíúÁµåÄåêÆ ’å®± µ́å 
ÜÈð¯óÊæÏ’ó ŠÒÊêÁµæ˜™ ’å²µð²ìåê 
Ñæ˜µåêÔåíúÁµåê ? 

 (a) ÅÔðé×åÄå (Plot) ˜µå ™́²µðé•ÿðÎêÒÁµå 
²ìåìæÔåíúÁµðé ’å®± µ́å ƒÁ¿·µåÔæ 
²ìåìæÔåíúÁµðé ÅÕê¤½²ìåê Äå´µåêÕÄå 
’åÅÚÈå³ ƒÒ¼å²µåÔåÄåêÆ 

 (b) Š²µå µ́åê ’å®±´µå˜µåâÿå Äå´µåêÕÄå 
ƒÒ¼å²µåÔåÄåêÆ 

 (c) ²µåÜÈð¾ Ôåê¼åê¾ ’ðéÒÁµåÐ ²µðé•ÿð ßæ˜µåë 
’å®±´µåÁµå ƒÒ¡Äå Äǻ µåêÕÄå ƒÒ¼å²µå 

 (d) ’å®±´µå˜µåâÿå ÔðêéÑæÌÃ˜µåÁµå Ôåêßå ™́ µ̃åâÿå 
„Ç·ÈóÜÈð¯ó Ê·æ µ̃å (…â–¦ÿæ²µåê 
ƒÒôåê) 

 

61. Äå̃ µå²µå ²ìðëé¦Äð²ìåêÑ–Ó ‘ÇÈæÑ’å ×åÜÈå¾ø ¡“¼ðÞ’ 
ŠÒÊ ÇÈåÁµåÔåÄåêÆ ßðëÜÈåÁµæ˜™ ÜÈåïÚÝ±ÜÝÁµåÔå²µåê  

 (a) ŠÊðÄð¦²µó ßðëÔæ µ́ó¤ 

 (b) ÇÝé®²µó Ôæ’å²µó 
 (c) ÜÈå²µó ÇÈæÏ°Ð’ó µ̃ð́ µð¶ÜÈó 
 (d) Êðëé²µæÄó ßæÇ·ÈóÔåêÄó 
 

62. ²ìåêê.ŠÜÈó.Š. ÄåÑ–Ó Äå˜µå²µå ²ìðëé¦’å 
„Ò´µåÐÜÈó ´µòÅ Ôåê¼åê¾ …¼å²µå²µåê _____ 
ŠÒÁµåê ’å²µð²ìåêÑæ˜µåêÔå ÇÈåÐÔåêê• Äå µ̃å²µå 
²ìðëé¦Äæ ÜÈåÒÜÈðÀ²ìåêÄåêÆ ÜÈæÀÇÝÜÝÁµå²µåê.  

 (a) ƒÔðêé²™’åÄó ÇÈæÓÅÒ µ̃ó 
ƒÜÈðëéÜÝ²ìðêéÚÈåÄó 

 (b) ’æÒ˜µðÐÜÈó Ç·Èæ²µó ÄåëÏ ƒÊ¤ÅÜÈåÒ 

 (c) …ÄåÜÝ±®ëÏ̄ ó „Ç·Èó ƒÊ¤Äó ÇÈæÓÅÒ µ̃ó 
 (d) ƒÜÈðëéÜÝ²ìðêéÚÈåÄó „Ç·Èó ’ðëÑ–

¨²ìðêé¯ó ÜÈåë”ÑóÞ „Ç·Èó ÇÈæÓÅÒ µ̃ó 
(ACSP) 
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56. As per National Building Code 

2005 what is minimum height a 

building need to be termed as 

High-rise building ? 

 (a) 21 metres (b) 36 metres 

 (c) 15 metres (d) 45 metres 

 

57. In India the ‘Land’ is a subject 

of  

 (a) State 

 (b) Municipal Corporation 

 (c) District Administration 

 (d) Central Government 

 

58. Example of Satellite township 

in Bangalore.  

 (a) Yelhanka New town 

 (b) White Field 

 (c) BTM Layout 

 (d) Peenya Industry 

 

59. The Ministry of Housing and 

Urban Poverty Alleviation 

(MoHUPA), Government of 

India, revised Interest Subsidy 

Scheme and renamed it as 

 (a) Indira Awas Yojana 

 (b) Rajiv Rinn Yojana (RRY) 

 (c) Slum Rehabilitation Scheme 

 (d) Mahatma Gandhi National 

Rural Employment Guarantee 

Scheme 

60. As per Zoning Regulations of 

Revised Master Plan 2015 of 

Bangalore the term Building 

Setback means 

 (a) minimum distance between 

any building or any 

structure from the 

boundary line of the plot. 

 (b) distance between two 

buildings. 

 (c) distance between road and 

centreline and building 

edge. 

 (d) offset of upper floors of 

the buildings. 

 

61. Term ‘Conservative Surgery’ in 

town planning was coined by 

 (a) Ebenezer Howard 

 (b) Peter Walker 

 (c) Sir Patrick Geddes 

 (d) Baron Hauffman 

 

62. In U.S.A. urban planner Andrés 

Duany and others started which 

important urban planning 

organization ?  

 (a) American Planning 

Association 

 (b) Congress for New Urbanism 

 (c) Institute of Urban Planning 

 (d) Association of Collegiate 

Schools of Planning 

(ACSP) 



47 (26 - A)  

63. ÜÈæ²™˜µð ²ìðëé¦Äð²ìåêÑ–Ó ÜÝéâÿåê ×ðñÑ– ƒÁ¿·µåÔæ 
ÇÈæÑê ×ðñÑ– ŠÒÊ ÇÈåÁµåÁµå ƒÁ¿·µå¤ _____. 

 (a) Äå˜µå²µåÁµåÑ–Ó²µåêÔå ÕÕÁ·µå Ê˜µð²ìåê 
ÔæßåÄå˜µåâÿå ÜÈåÒ•ÿðÏ 

 (b) Äå˜µå²µåÁµåÑ–Ó ÑÊ·åùÏÕ²µåêÔå ÜÈæÔå¤¦Å’å 
ÜÈæ²™˜µð²ìåê ÕÕÁ·µå Ê µ̃ð µ̃åâÿåê 

 (c) Äæ˜µå²™é’å²µåê ÇÈå´µð²ìåêêÔå ÜÈæ²™˜µð²ìåê 
Ê˜µð˜µåâÿå „²ìðê”²ìåêÄåêÆ ¼ðëé²™ÜÈåêÔå 
Áµå¼å¾ Ôåìæà½ 

 (d) Äå˜µå²µå ²µåÜÈð¾ µ̃åâÿåÑ–Ó²µåêÔå ÔæßåÄå 
Áµå®±¹ð  

 

64. §ÒÁµåê ßå²µåÕÄå (ÇÈæÓ¯ó) ÇÈåÐÁµðé×å 4000 
ôå.Õêé. ˜µåâ–ÁµåêÂ, ƒÒ˜™é’æ²µæßå¤ 
ŠÇ·ÈóŠ„²µó 1.25 Ôåê¼åê¾ 
ƒÒ˜™é’æ²µæßå¤ ÄðÑ ßðëÁ™’ð 40% 
…ÁµåÂ²µð, „ ’å®±́ µåÔåíú ßðëÒÁµåÊßåêÁµæÁµå 
Ôåêßå´™ µ̃åâÿå §®ê± ÜÈåÒ•ÿðÏ  

 (a) 3 (b) 4 

 (c) 6 (d) 2 

 

65. Ê·åêÔåÄðé×åÖ²µåÔåÄåêÆ ¦Ôåê¤Äó ÔæÜÈåê¾ØÑ–É 
1946 ²µåÑ–Ó ²ìðëé¨ÜÝÁµåÄåê. „¼åÄå ßðÜÈå²µåê 
_____ 

 (a) Ñ–é. ’æÊë¤ÜÝ²ìåê²µó 

 (b) õ ð̄ë± ’ðëÅ˜µóÞ Ê˜µå¤²µó 

 (c) ÑëÎêÜÈó ’æÄó 

 (d) ÇÈæÏ°Ð’ó ˜µð́ µå¶ÜÈó 

66. Ôå’æÑ¼åê¾ ²ìðëé¦Äð ŠÒÁµå²µð 

 (a) Ôå“éÑ²µåê ÔåêÒ ™́ÜÝÁµå ²ìðëé¦Äæ 

ÇÈåÐÜÈæ¾ÔåÄð 

 (b) ÜÈå’æ¤²µåÔåíú ’ðÑÔåíú ²ìðëé¦Äð˜µåâÿåÄåêÆ 

Ôå’æÑ¼åê¾ Ôåìæ´µåêÔåíúÁµåê 

 (c) ¦Äå²µå Ê·æ˜µåÔåàÜÈåêÕ’ð²ìðëÒÁ™ µ̃ð 

Äå˜µå²µå ²ìðëé¦Äð²ìåêÄåêÆ 

Ôåìæ´µåêÔåíúÁµåê 

 (d) ÕÕÁ·µå ÜÈå’æ¤²µå˜µåâÿå ²ìðëé¦Äð µ̃åâÿå 

×ðÐéº ÔåÏÔåÜÈðÀ˜µð ƒÄåêÜÈæ²µåÔæ ™̃ 

Äå˜µå²µå ²ìðëé¦Äð 

 

67. ¦Äå˜µå¸½²ìåê ÇÈåÐ’æ²µå Äå̃ µå²µå ÇÈåÐÁµðé×åÁµå 

ÔæÏ•ÿðÏ  

 (a) ’åÅÚÈå³ 5,000 ¦ÄåÜÈåÒ•ÿðÏ …²µåêÔåíúÁµåê 

 (b) ÇÈåÐÁ·µæÄå Áµåê´™²ìåêêÔå ¦ÄåÜÈåÒ•ÿðÏ²ìåê 

’å µ́ðéÇÈå’åÛ 75% ’åïÚÝ²ìðêé¼å²µå 

‡ÁµðëÏé˜µå˜µåâÿåÑ–Ó Å²µå¼å²µæ˜™²µåêÔå²µåê 

 (c) ¦ÄåÜÈåÒ•ÿðÏ²ìåê ÜÈæÒÁµåÐ¼ð ’ǻ µðéÇÈå’åÛ 

ÇÈåÐ½ ôåÁµå²µå “.Õêé.˜µð 400 ÔåÏ“¾˜µåâ–

²µåÊðé’åê. 

 (d) ÔðêéÑ–Äå ŠÑÓÔåî 



47 (27 - A)  

63. Term Modal split or modal 

share in transportation planning 

means 

 (a) number of different types 

of vehicles in the city. 

 (b) different modes of public 

transport available in the 

city. 

 (c) the data showing choice of 

modes of transport 

undertaken by the citizens. 

 (d) traffic density on urban 

roads. 

 

64. If the plot area is 4000 sq. mts 

and allowable FAR is 1.25 and 

allowable ground cover is 40% 

then total number of floors the 

building will have is  

 (a) 3 (b) 4 

 (c) 6 (d) 2 

 

65. Bhubaneshwar was planned in 

1946 by German Architect. The 

name of the architect was  

 (a) Le Corbusier 

 (b) Otto Königsberger  

 (c) Louise Kahn 

 (d) Patrick Geddes 

66. Advocacy planning means 

 (a) Planning proposal put 

forward by advocates 

 (b) Government advocating 

certain plans 

 (c) Urban planning done with 

participation of people 

 (d) Urban planning in 

accordance with hierarchy 

of plans of different 

Governments. 

67. Definition of Urban Area as per 

Census is  

 (a) a minimum population of 

5,000. 

 (b) at least 75 percent of the 

main working population 

engaged in non-

agricultural pursuits. 

 (c) a density of population of 

at least 400 persons per 

sq.km. 

 (d) All of the above  
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68. ×æÜÈåÄåÊÁµåÂÃ ÇÈå®±¸ µ̃åâÿåê ŠÒÁµå²µðéÄåê ? 

 (a) ÜÈåÒÊÒÁ·µåÇÈå®± ²µæ¦Ï / ’ðéÒÁµæÐ´µåâ–¼å 
ÇÈåÐÁµðé×åÁµå ÜÈå’æ¤²µåÁ™ÒÁµå ’æÄåëÅ- 
Äå´™ ƒÁ·™ ÜÈåë¡ÜÈåÑÉ°±²µåêÔåíúÁµåê 
Ôåê¼åê¾ Äå˜µå²µå ÜÈåÀâ–é²ìåê ÜÈåÒÜÈðÀ µ̃åâÿåÄåêÆ 
ßðëÒÁ™²µåêÔåíúÁµåê 

 (b) ¦Ñæ×å²ìåê ÅÔåìæ¤¸ÁµåÒ¼åßå 
Õ×ðéÚÈå ‡ÁµðÂé×å’æ”˜™ ÜÈåï¨ÜÈåÑæÁµå 
¼æ¼æ”Ñ–’å ÔåÜÈæßå¼åê  

 (c) Ôðê ð̄ëÐÇÈæÑ–®Äó Äå̃ µå²µå µ̃åâÿå 
ßðë²µåÔåÑ²ìåêÁµåÑ–Ó²µåêÔå ÇÈå®±̧ ˜µåâÿåê 

 (d) ‡ÁµðÂéØ¼å ßåÜÝ²µåêÇÈåÐÁµðé×å 

‡ÇÈå¨ÑðÓ˜µåâÿåê (Townships) 

 

69. 2011 ²µå ¦Äå µ̃å̧ ½²ìåê ÇÈåÐ’æ²µå Ê·æ²µå¼åÁµå 
§®ê± Äå˜µå²µå ¦ÄåÜÈåÒ•ÿðÏ _____ 

 (a) 43.21% (b) 51.33% 

 (c) 31.16% (d) 22.54% 

 

70. BMRDA Ôåíú ÊðÒ µ̃åâÿåë²™Äå ÜÈåê¼å¾Ôåêê¼å¾Ñ 
ÇÈåÐÁµðé×åÁµå ÇÈæÐÁµðéØ’å ƒÊ–·ÔåïÁ™ÂÃ ÇÈæÐÁ·™’æ²µå ? 
ƒÁµåê ŠÚÈåê± ¨ÑðÓ µ̃åâÿåÄåêÆ §âÿå̃ µðëÒ´™Áµð ? 

 (a) 3 (b) 4 

 (c) 5 (d) 6 

 

71. Ôæ µ́ó¤ ÜÈåÕê½ µ̃åâÿå ²µåôåÄð²ìåê ÔåêëÑ’å Äå̃ µå²µå 
²ìðëé¦Äð²ìåêÑ–Ó ¦Äå²µå ƒÇÈå²µðëé’åÛ 
Ê·æ µ̃åÔåàÜÈåêÕ’ð²ìåêÄåêÆ ____ ²µåÑ–Ó ßðéâÿåÑæ ™̃Áµð. 

 (a) 74 Äð²ìåê ÜÈåÒÕÁ·µæÄå ½ÁµåêÂÇÈǻ ™ ’æÎêÁµð 

 (b) 73 Äð²ìåê ÜÈåÒÕÁ·µæÄå ½ÁµåêÂÇÈǻ ™ ’æÎêÁµð 

 (c) 72 Äð²ìåê ÜÈåÒÕÁ·µæÄå ½ÁµåêÂÇÈǻ ™ ’æÎêÁµð 

 (d) 71 Äð²ìåê ÜÈåÒÕÁ·µæÄå ½ÁµåêÂÇÈǻ ™ ’æÎêÁµð 

72. Ê·ò˜µðëéâ–’å Ôåìæà½ ÔåÏÔåÜÈðÀ²ìåêÑ–Ó 

(¨ŒŠÜÈó) † ÔåêêÒÁ™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔå 

ßðéâ–’ð ÜÈå²™ ? 

 (a) ‡ÇÈå˜µåÐßå £æ²ìåìæ¡¼åÐ µ̃åâÿåê 

²µæÏÜÈå±²µó Áµå¼å¾ Ôåìæà½²ìåê §ÒÁµåê 

ÜÈåÒôå²ìåê 

 (b) (ÇÈæÐÁµðéØ’å) ÁµðñØ’å Ôåê¼åê¾ ÁµðñØ’å 

ÔåÑÓÁµå (ßðë²µå Áµðé×åÁµå) Áµå¼å¾ 

Ôåìæà½˜µåâÿåÄåêÆ ¨ŒŠÜÈóÄåÑ–Ó 

‹“é’åï¼å µ̃ðëâ–ÜÈåÊßåêÁµåê 

 (c) ƒÁ·µæÏ²µðëéÇÝÜÝÁµå Áµå¼å¾ Ôåìæà½ 

ÅÁ·™¤ÚÈå± Äå’ðÛ²ìåê Ñ’åÛ¸˜µåâÿåÄåêÆ 

ÕÔå²™ÜÈåê¼å¾Áµð „Áµå²µð ƒÁµåê 

ÔåêëÑÜÈåÖ²µåëÇÈåÁµå Ñ–•–¼å ƒÑÓ 

 (d) ÔðêéÑ–Äå ŠÑÓÔåî 

 

73. ÜÈåÒôæ²µå ’åê×åÑôåÑÄð ŠÒÁµå²µð 

 (a) Ôåìæ µ̃æ¤Ò¼å²™ÜÈåêÔåíúÁµåê 

 (b) ÕÑ–éÅé’å²™ÜÈåêÔåíúÁµåê 

 (c) ƒ µ́å¶ßæ²ìåêêÔåíúÁµåê 

 (d) ÔðêéÑ–Äå ŠÑÓÔåî 
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68. What are statutory towns ? 

 (a) Notified under law by the 

concerned State / UT 

Government and have 

urban local bodies. 

 (b) Temporary settlements 

created for special purpose 

like construction of dam.  

 (c) Towns on the periphery of 

metropolitan cities. 

 (d) Proposed Greenfield 

Townships. 

 

69. Total urban population of India 

as per Census 2011 was  

 (a) 43.21% (b) 51.33% 

 (c) 31.16% (d) 22.54% 

 

70. BMRDA is a regional 

development authority for 

region surrounding Bangalore. 

It is comprised of how many 

districts ? 

 (a) 3 (b) 4 

 (c) 5 (d) 6 

 

71. Indirect participation of people 

in planning process through 

Constitution of ward 

committees is suggested in 

 (a) 74
th
 Constitutional 

Amendment Act 

 (b) 73
rd

 Constitutional 

Amendment Act 

 (c) 72
nd

 Constitutional 

Amendment Act 

 (d) 71
st
 Constitutional 

Amendment Act 

72. In Geographical Information 

System (GIS) which of the 

following statements are true : 

 (a) Satellite images are set of 

raster data. 

 (b) Spatial and non-spatial 

data can be integrated in 

GIS. 

 (c) Attribute data describes 

specific map features but is 

not inherently graphic. 

 (d) All of the above 

 

73. The Traffic manoeuvre means 

 (a) Diverging 

 (b) Merging 

 (c) Crossing 

 (d) All the above 
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74. ÄåÕ ÔåêêÒÊðñÄåÑ–Ó²µåêÔå Äå̃ µå²µå ÜÈåÀâ–é²ìåê ÜÈåÒÜÈðÀ 
_____.  

 (a) ŠÒŠÒ„²µó´™Š-ÔåêêÒÊðñ Ôðê ð̄ëÐ 

ÇÈæÑ–®Äó ²™é¦ÄåÑó µ́ðÔåÑÇÈó 

ÔðêÒ¯ó ƒÁ¿·µæ²™° 

 (b) ÜÝŒ ™́ÜÝõ-ÜÝ° ƒÒ µ́ó …Ò µ́åÜÝ±ø²ìåêÑó 

µ́ðÔðÑÇÈåÔðêÒ¯ó ’æÇÈðî¤²µðéÚÈåÄó 

 (c) ÄåÕ ÔåêêÒÊðñ ÔåêêÅÞÇÈåÑó 

’æÇÈðî¤²µðéÚÈåÄó 

 (d) ˜µðÐé®²µó ÔåêêÒÊðñ ÔåêêÅÞÇÈåÑó 

’æÇÈðî¤²µðéÚÈåÄó 

 

75. 74Äðé ÜÈåÒÕÁ·µæÄå ½ÁµåêÂÇÈǻ ™ ’æ²ìðêÂ²ìåê 

ƒÄåêôð¥éÁµå 243 ZE ¨ÑæÓ ²ìðëé¦Äæ 

ÜÈåÕê½ µ̃åâÿå ÜÈæÀÇÈåÄð µ̃ð ‡ÇÈåÊÒÁ·µå 

§Áµå˜™ÜÈåê¼å¾Áµð. 74 Äð²ìåê ÜÈåÒÕÁ·µæÄå 

½ÁµåêÂÇÈǻ ™ ’æÎêÁµð²ìåê ²ìåìæÔå ƒÄåêôð¥éÁµå 

Ôðê ð̄ëÐÇÈæÑ–®Äó ²ìðëé¦Äæ ÜÈåÕê½ µ̃åâÿå 

ÜÈæÀÇÈåÄð²ìåêÄåêÆ ‡ÇÈåÊÒÁ·™ÜÈåê¼å¾Áµð ? 

 (a) 243 ZE  

 (b) 234 ZE 

 (c) 247 ZE  

 (d) 242 ZE 

76. ’ðéÒÁµåÐ ÜÈå’æ¤²µåÔåíú …½¾éôð˜µð Áµðé×åÁµåÑ–Ó 
ƒÁ¿·µå¤ÔåÏÔåÜÈðÀ²ìåê ²ìðëé¦Äð²ìåêÄåêÆ 
’ðñ˜µðëâÿåêäÔå §ÒÁµåê ßðëÜÈå ÜÈåÒÜÈðÀ²ìåêÄåêÆ 
ÜÈæÀÇÝÜÝ¼åê. † ÜÈåÒÜÈðÀ Ê·æ²µå¼åÁµå ²ìðëé¦Äæ 
„²ìðëé˜µåÁµå ÜÈæÀÄåÔåÄåêÆ ÊÁµåÑ–ÜÈåê¼å¾Áµð. † 
ÜÈåÒÜÈðÀ²ìåê ßðÜÈå²µåê _____.  

 (a) Ê·æ²µå¼åÁµå ÊÁµåÑæÔå¹ð˜µæ˜™Äå 
²µæÚÝ±øé²ìåê ÜÈåÒÜÈðÀ (Åé½ „²ìðëé˜µå) 

 (b) ²ìðëé¦Äæ „²ìðëé µ̃å 

 (c) Õ’æÜÈå „²ìðëé˜µå 

 (d) Ê·åÕÚÈåÏ „²ìðëé˜µå 

 

77. † ÔåêêÒÁ™Äå ÜÈåÔåêëßå ÜÈæ²™ µ̃ð 
ÔåÏÔåÜÈðÀ˜µåâÿåÄåêÆ ƒÔåíú˜µåâÿå ÔåßåÄå 
ÜÈæÔåêÁ¿·µåùÏ¤Áµå „Á·µæ²µåÁµå ÔðêéÑð ¦ÿðëé´™ÜÝ. 
(ßð¡¢ÅÒÁµå ÇÈæÐ²µåÒÊ–·ÜÝ ’ǻ ™Ôðê˜µð) 

 1. Ôðê ð̄ëÐ ²µðñÑê 

 2. Ê–„²µó°ŠÜÈó  

 3. ¯æÐÒÔðé 

 4. ÔðëÄðë²µðñÑê  

 (a) 1 2 3 4 (b) 4 3 2 1 

 (c) 1 4 3 2 (d) 3 4 2 1 

 

78. † ÔåêêÒÁ™ÄåÔåíú˜µåâÿåÑ–Ó §ÒÁµåê Äå µ̃å²µåÔåÄåêÆ 
ßåÜÝ²µåê’ðÛé¼åÐÁµå Äå˜µå²µåÔðÒÁµåê ²ìðëé¨ÜÝÑÓ ? 

 (a) Äå²ìåê ²µæ²ìåêÇÈåíú²µå 

 (b) ˜µðÐé®²µó Äðëé²ìåê µ́æ 

 (c) ôåÒ´·™é˜µǻ µó 

 (d) ˜µðÐé®²µó ÔåêêÒÊðñ 
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74. Urban Local Body at Navi 

Mumbai is  

 (a) MMRDA – Mumbai 

Metropolitan Regional 

Development Authority  

 (b) CIDCO-City and Industrial 

Development Corporation 

 (c) Navi Mumbai Municipal 

Corporation 

 (d) Greater Mumbai Municipal 

Corporation 

 

75. Article 243 ZE of                         

74
th
 Constitutional Amendment 

Act provides for Constitution of 

District Planning Committees. 

Which Article of 74
th
 

Constitutional Amendment            

Act provides for Constitution        

of Metropolitan Planning 

Committees ? 

 (a) 243 ZE  

 (b) 234 ZE 

 (c) 247 ZE  

 (d) 242 ZE 

76. Central Government recently 

constituted a new institution 

which will undertake economic 

planning for the country. This 

institution will replace the 

Planning Commission of India. 

The name of this institution is  

 (a) National Institution for 

Transforming India (NITI 

Aayog) 

 (b) Yojana Aayog 

 (c) Vikas Aayog 

 (d) Bhavishya Aayog 

 

77. Arrange the following Mass 

Transport systems in terms of 

their carrying capacities starting 

with highest to lowest : 

 1. Metro Rail 

 2. BRTS  

 3. Tramway 

 4. Monorail  

 (a) 1 2 3 4 (b) 4 3 2 1 

 (c) 1 4 3 2 (d) 3 4 2 1 

 

78. One of the following cities is not 

planned as a Greenfield city : 

 (a) Naya Raipur 

 (b) Greater Noida 

 (c) Chandigarh 

 (d) Greater Mumbai 
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79. JNNURM ŠÒÊêÁµåê Ê·æ²µå¼åÁµå 
Ôðê ð̄ëÐÇÈæÑ–®Äó Äå µ̃å²µå µ̃åâÿåÑ–ÓÄå Äå̃ µå²µå 
ÔåêëÑÊ·åë¼å ÜÈò’å²ìåê¤ µ̃åâÿåê Ôåê¼åê¾ „´µåâ–
¼åÔåÄåêÆ ƒÊ–·ÔåïÁ™ÂÃ Ôåìæ´µåÑê ÇÈæÐ²µåÒÊ–·ÜÝÁµå 
§ÒÁµåê ’ðéÒÁ™Ð²ìåê ²ìðëé¦Äð. † 
ÔåêêÒÁ™Äå ÜÈåÒ“ÛÇÈæ¾’åÛ²µå˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê 
ÜÈå »̧ Ôåê¼åê¾ ÔåêÁ·µåùÏÔåê ÇÈå®±¸˜µåâ–˜µæ ™̃ 
ÇÈæÐ²µåÒÊ–·ÜÝÁµå ²ìðëé¦Äð²ìåêÄåêÆ 
ÇÈåÐ½ÅÁ·™ÜÈåê½¾Áµð ? 

 (a) UIDSSMT 

 (b) MNREGA 

 (c) JNNURM 

 (d) RAY 

 

80. ÔåêêÒÁ™Äå Äå˜µå²µå ƒÊ–·ÔåïÁ™ÂÃ ²ìðëé¦Äð 

ÔåÏÔåÜÈðÀ˜µåâÿå Ê˜µð µ̃åâÿåÄåêÆ, UDPFI Ôåìæ˜µå¤ 
ÜÈåë¡ µ̃åâÿåÑ–Ó ØÇ·Èæ²µåÜÈåê Ôåìæ´µåÑæ˜™²µåê -
ÔåÒ¼ð ßð¡¢Áµå²™ÒÁµå ÇÈæÐ²µåÒÊ–·ÜÝ 
’å ™́Ôðê²ìåêÔå²µð˜µð ƒÔåíú˜µåâÿå ƒÔåÁ·™²ìåê 
„Á·µæ²µåÁµå ÔðêéÑð ¦ÿðëé´™ÜÝ : 

 1. ²ìðëé¦Äð µ̃åâÿåê / ÇÈæÐ¦ÿð’ó± ˜µåâÿåê 
Ôåê¼åê¾ ÜÝ”éÔåêê˜µåâÿåê 

 2. ƒÊ–·ÔåïÁ™ÂÃ ²ìðëé¦Äð 

 3. ²ìåêÁ¿·µæÁµåïÚÈå± ²µåëÇÈåÁµå ²ìðëé¦Äð 

 4. ÔæÚÝ¤’å ²ìðëé¦Äð 

 (a) 2 3 1 4 (b) 3 2 4 1 

 (c) 3 4 2 1 (d) 1 4 3 2 

81. ’å®±´µåÁµåÑ–Ó …ÒÁ·µåÄå Êâÿå’ð²ìåêê † ’ðâÿå ™̃Äå 
²ìåìæÔå ßåÒ¼åÁµåÑ–Ó ßð¡¢Äå ÇÈåÐÔåìæ¸ÁµåÑ–Ó 
„˜µåê¼å¾Áµð ? 

 (a) …Áµå²µå ÅÔåìæ¤¸Áµå ßåÒ¼åÁµåÑ–Ó 

 (b) …ÁµåÄåêÆ § µ́ðÁµåê ßæ’åêÔå ßåÒ¼åÁµåÑ–Ó 

 (c) …Áµå²µå ¨éÕ¼æÔåÁ·™²ìåêÑ–Ó 

 (d) …Áµå²µå ÔåêëÑÏ ’å ™́Ôðê²ìåìæÁµå 
ßåÒ¼åÁµåÑ–Ó 

 

82. §ÒÁµåê ¼å²µå µ̃å½˜µð ÔåìæÁ·µåùÏÕê’å Ôåê¼åê¾ ÇÈòÐ ·́µå 
Ø’åÛ¸Áµå Š²µǻ µåê ÕÊ·æ˜µå˜µåâÿåÄåêÆ 
ßðëÒÁ™²µåêÔå ×æÑð²ìåê ÅÔåìæ¤¸ 
ÇÈåÐÁµðé×åÔåíú §ÊÌ ÕÁµæÏÁ¿·™¤˜µð † ’ðâÿå ™̃Äå 
²ìåìæÔå ÇÈåÐÔåìæ¸ÁµæÂ ™̃²µåÊðé’åê ? 

 (a) 4.60 m2 (b) 1.80 m2 

 (c) 3.20 m2 (d) 2.60 m2 

 

83. ÔðêéÑ¢ÇÈåÉ²µå ÅÕê¤ÜÈåÑê ÜÈð¯óÊæÏ’ó 
ÇÈåÐÁµðé×åÁµåÑ–Ó ƒÄåêÔåê½ÜÝÁµå ÇÈðîÐ¦ÿð’åÛÄó 
˜µåâÿåê † ’ðâÿå ™̃Äå ²ìåìæÔå ÇÈåÐÔåìæ¸- 
ÁµæÂ˜™²µåÊðé’åê ?  

 (a) 3.5 m ƒ˜µåÑ 

 (b) 3.75 m ƒ˜µåÑ 

 (c) 3.0 m ƒ˜µåÑ 

 (d) 4.0 m ƒ˜µåÑ 

 

84. ßðë²µæÒ˜µå̧ Áµå Êðâÿå’åê ÇÈåÐ’æØÜÈåêÕ’ð˜µæ ™̃ 
§âÿæÒ˜µå¸Áµå Êðâÿå’åê ÇÈåÐ’æØÜÈåêÕ’ð²ìåê 
ÇÈåÐÔåìæ¸Ôåíú 6000 lux „˜™ÁµåêÂ, † 
’ðâÿå ™̃Äå ²ìåìæÔåíúÁµåê ßå µ̃åÑ–Äå Êðâÿå“Äå ƒÒ×å 
8% ²µåÚÈåê± …²µåÊðé’åê. 

 (a) 320 lux (b) 480 lux 

 (c) 275 lux (d) 380 lux 
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79. JNNURM was the central 

scheme launched to improve 

urban infrastructure and 

governance in metropolitan 

cities in India. Which was the 

following abbreviation represents 

the scheme launched for small 

and medium towns ? 

 (a) UIDSSMT 

 (b) MNREGA 

 (c) JNNURM 

 (d) RAY 

 

80. Arrange the following types of 

urban development planning 

system as per their terms 

starting with highest to lowest 

as recommended in UDPFI 

guidelines : 

 1. Plans/Projects and scheme 

 2. Development plan 

 3. Perspective plan 

 4. Annual plan 

 (a) 2 3 1 4  

 (b) 3 2 4 1 

 (c) 3 4 2 1  

 (d) 1 4 3 2 

81. Energy consumption in building 

is more  

 (a) during its construction 

stage 

 (b) during its demolition stage 

 (c) during its life span 

 (d) during its deterioration 

stage 

 

82. Built up area of school having 

two sections per class (For 

secondary and higher 

secondary) per student is  

 (a) 4.60 m2 (b) 1.80 m2 

 (c) 3.20 m2 (d) 2.60 m2 

 

83. Productions permitted in 

setback area for canopy is  

 (a) 3.5 m width 

 (b) 3.75 m width 

 (c) 3.0 m width 

 (d) 4.0 m width 

 

84. The indoor illumination value 

for the outdoor illumination of 

6000 lux and day light factor 

8% is 

 (a) 320 lux (b) 480 lux 

 (c) 275 lux (d) 380 lux 
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85. ’æÓÜÈó ²µåëÒÄå µ́ðÜÈå”¯æÇÈó Ôåê¼åê¾ ôæ’ó 
Êðëé´µó¤ µ̃ð ÜÈåÒÊÒÁ·™ÜÝÁµåÒ¼ð ØÇ·Èæ²µåÜÈåêÞ 
Ôåìæ´™Áµå Êðâÿå“Äå ÇÈåÐ’æØÜÈåêÕ’ð²ìåê 
Ôåê®±Ôåíú † ’ðâÿå˜™Äå ²ìåìæÔåíúÁµå²µåÚÝ±²µåÊðé’åê  

 (a) 200-300 lux 

 (b) 300-500 lux 

 (c) 150-300 lux 

 (d) 100-200 lux 

 

86. † ’ðâÿå˜™Äå ²ìåìæÔåíúÁµåÄåêÆ ßð¡¢ÜÈåÑê 
¼åâÿåÇÈæ²ìåê µ̃åâÿåÄåêÆ Ê·åëÔåê®±Á™ÒÁµå 
’ðâÿåÊ·æ µ̃åÁµåÑ–Ó ÅÕê¤ÜÈåÑæ˜µåê½¾Áµð ?  

 (a) ÊÑ / ÜÈæÔåêÁ¿·µåùÏ¤ 

 (b) ’æ²ìåê¤ ÜÈæÁ·µåùÏ¼ð 

 (c) ÅÔåìæ¤¸Áµå Áµåï´·µå¼ð 

 (d) † ŠÑÓÔåî 

 

87. ÊÑÇÈå´™ÜÝÁµå …°±˜µð²ìåê ÕÊ·æ µ̃åÁµå 
˜µðëé´µð²ìåê ÁµåÇÈåÉÔåíú † ’ðâÿå ™̃Äå ²ìåìæÔå 
ÜÈæÔåìæÄåÏ ÇÈåÐÔåìæ¸ÁµæÂ˜™²µåêÔåíúÁµåê ? 

 (a) 5 cm (b) 10 cm 

 (c) 15 cm (d) 20 cm 

 

88. §ÒÁµåê ƒÁ¿·µåÔæ ƒÁµå’åë” ßð¡¢Äå ÊÑóÌ 
˜µåâÿåÄåêÆ ƒÁµå²µå ÑÒÊ¼åÑ “²µå̧ ÁµðëÒÁ™ µ̃ð 
§Áµå˜™ÜÝÁµå ¼å µ̃ǻ µåê’å®±ÄåêÆ † ’ðâÿå ™̃Äå 
²ìåìæÔåíúÁµå²µå ÜÈæÔåìæÄåÏ ßðÜÈå²™ÅÒÁµå 
’å²µð²ìåêÑæ˜µåêÔåíúÁµåê.  

 (a) ƒÒ´µå²µó-²™éÔåìó ÇÈðñÑó 

 (b) ›åÚÈå¤ µ̃ð ÇÈðñÑó 

 (c) Ê–²ìåê²™Ò˜µó ÇÈðñÑó 

 (d) Øé¯ó ÇÈðñÑó 

89. §ÒÁµåê …â–¦ÿæ²µåê’å ð̄± (ramp) ²ìåêÄåêÆ 
ÅÕê¤ÜÈåêÔåíúÁµå’ð” ƒÄåêÔåê½ÜÝÁµå ˜µå²™ÚÈå³ 
ÇÈåÐÔåìæ¸Áµå Ôæ®Ôåíú † ’ðâÿå˜™Äå ÇÈðñ“ 
²ìåìæÔåíúÁµåê „˜™Áµð.  

 (a) 1 : 06 (b) 1 : 08 

 (c) 1 : 10 (d) 1 : 12 

 

90. (ϕ) Ôåíú kg/m3 ¼åë’å w Áµå Ôåê »̧ÄåêÆ 
ƒÔåÑÒÊ–ÜÝÁµå „Á·µæ²µå ßðëÒÁ™Áµå 
’ðëéÄåÔæ˜™ÁµåÂ²µð, † ’ðâÿå ™̃Äå ²ìåìæÔåíúÁµåê 
˜µðëé´µð²ìåê Õêé®²µó˜µåâÿå §ÒÁµåê Õêé®²µó 
h Äå „âÿåÁµåÑ–Ó ÜÈåÔåê¼åÑÔæ˜™ ½²µåê˜µåêÔå 
Ê·åëÕê²ìåê §¼å¾ µ́å p „˜™²µåê¼å¾Áµð. 

 (a) wh × 
1 – sin ϕ

1 + sin ϕ
 

 (b) 
wh

2
 × 

1 – sin ϕ

1 + sin ϕ
 

 (c) wh × 
1 – sin ϕ

1 + sin ϕ
 

 (d) wh × 
1 + sin ϕ

1 – sin ϕ
 

 

91. ßðëÜÈå ’å®±´µåÁµå ÑðñÜÈðÄóÞ ƒÄåêÆ † ’ðâÿå ™̃Äå 
_____ ÔåÚÈå¤˜µåâÿå ÄåÒ¼å²µå ¼ð˜µðÁµåê’ðëâÿåä 
Êðé’æÁµå ƒ˜µå¼åÏÕ²µåê¼å¾Áµð.   

 (a) 6 ½Ò µ̃åâÿåê µ̃åâÿåê (b) 1 ÔåÚÈå¤ 

 (c) 2 ÔåÚÈå¤˜µåâÿåê (d) 3 ÔåÚÈå¤˜µåâÿåê 

 

92. † ’ðâÿå ™̃Äå ²ìåìæÔåíúÁµåê ÔæÜÈåÁµå ÔåêÄð²ìåê 
Ôðê°±Ñê˜µåâÿå ’åÅÚÈå³ ÇÈåÐÔåìæ¸Áµå 
ƒ˜µåÑÔæ˜™Áµð. 

 (a) 0.6 m (b) 0.75 m 

 (c) 0.9 m (d) 1 m 
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85. Recommended illumination 

level on classroom desktop and 

chalk-board is  

 (a) 200-300 lux 

 (b) 300-500 lux 

 (c) 150-300 lux 

 (d) 100-200 lux 

 

86. The foundations are placed 

below ground level, to increase 

 (a) strength 

 (b) workability 

 (c) stability of structure 

 (d) All the above 

 

87. The thickness of a reinforced 

brick partition wall, is generally 

kept 

 (a) 5 cm (b) 10 cm 

 (c) 15 cm (d) 20 cm 

 

88. The pile provided with one or 

more bulbs in its vertical shaft, 

is generally known as  

 (a) under-ream pile 

 (b) friction pile 

 (c) bearing pile 

 (d) sheet pile 

89. The maximum slope permitted 

for a ramp is  

 (a) 1 : 06 (b) 1 : 08 

 (c) 1 : 10 (d) 1 : 12 

 

90. If (ϕ) is the angle of repose of 

soil of weight w kg/m3, the 

horizontal active earth pressure 

p at a depth of h metres per 

metre length of a wall, is  

 (a) wh × 
1 – sin ϕ

1 + sin ϕ
 

 (b) 
wh

2
 × 

1 – sin ϕ

1 + sin ϕ
 

 (c) wh × 
1 – sin ϕ

1 + sin ϕ
 

 (d) wh × 
1 + sin ϕ

1 – sin ϕ
 

 

91. Fresh building license needs to 

be taken after _______.  

 (a) 6 months (b) 1 year 

 (c) 2 years (d) 3 years 

 

92. Minimum width of the staircase 

for a residental building is  

 (a) 0.6 m (b) 0.75 m 

 (c) 0.9 m (d) 1 m 
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93. 1000 m2 “”ÒÁ¿·µå ßð¡¢Äå ’ðÛé¼åÐÁµå 
ÇÈåÐÁµðé×åÁµåÑ–Ó ’åÑæÏ¸ÔåêÒ®ÇÈå 
ÅÕê¤ÜÈåêÔåíúÁµå’ð” ƒ˜µå¼åÏÔæÁµå ’åÅÚÈå³ 
ÇÈåÐÔåìæ¸Áµå ²µåÜÈð¾ ƒ µ̃åÑ ŠÚÈåê± „˜™²µåÊðé’åê 

 (a) 9 m (b) 12 m 

 (c) 15 m (d) 18 m 

 

94. Êßåê Ôåêßå´™ ’å®±́ µå ŠÒÁµå²µð, † ’ðâÿå ™̃Äå 
²ìåìæÔåíúÁµå’ð” ÜÈåÒÊÒÁ·™ÜÝÁµæÂ˜™Áµð. 

 (a) ÄðÑ + 2 Ôåêßǻ ™ µ̃åâ– ™̃Ò¼åÑë 
ÔðêéÑÉ®± §ÒÁµåê ’å®± µ́å 

 (b) ÊðéÜÈóÔðêÒ¯ó + ÄðÑ + 2 

Ôåêßå´™ µ̃åâ– ™̃Ò¼åÑë ÔðêéÑÉ®± 
§ÒÁµåê ’å®± µ́å 

 (c) ÄðÑ + 4 Ôåêßǻ ™ µ̃åâ– ™̃Ò¼åÑë 
ÔðêéÑÉ®± §ÒÁµåê ’å®± µ́å 

 (d) ÄðÑ + 3 Ôåêßǻ ™ µ̃åâ– ™̃Ò¼åÑë 
ÔðêéÑÉ®± §ÒÁµåê ’å®± µ́å 

 

95. ÇÈåÐ¼ðÏé’å ˆ®Áµå ’ðëé¹ð²ìðëÒÁ™ µ̃ð † 
’ðâÿå ™̃Äå ²ìåìæÔåíúÁµåê ’åÅÚÈå³ ÇÈåÐÔåìæ¸Áµå 
ƒ´µåê µ̃ð ’ðëé¹ð²ìåê ÇÈåÐÁµðé×åÔæ˜™²µåÊðé’åê ?  

 (a) 3 m2 (b) 4 m2 

 (c) 5 m2 (d) 6 m2 

 

96. ÜÈåê. 33 kV HT Êâ– …²µåêÔå ’å®± µ́å µ̃åâ– µ̃ð 
† ’ðâÿå˜™Äå ²ìåìæÔå ÇÈåÐÔåìæ¸Áµå ÑÒÊ / 
×åïÒ˜™é²ìåê ÜÈåÀâÿåÕ²µåÊðé’åê ? 

 (a) 2 m (b) 3 m 

 (c) 3.7 m (d) 4 m 

97. „²µðëé˜µåÏ ’ðéÒÁµåÐ’ð” † ’ðâÿå ™̃Äå ²ìåìæÔå 
˜µå²™ÚÈå³ ÇÈåÐÔåìæ¸Áµå ÜÈåÀâÿå …²µåÊðé’åê ?  

 (a) 20% (b) 25.50% 

 (c) 33.33% (d) 35.66% 

 

98. † ’ðâÿå ™̃Äå ²ìåìæÔå ÕÄæÏÜÈåÁµå ’å®±´µå˜µåâÿåê 
(vernacular) ÁµðéØé²ìåìæ ’å®±´µå˜µåâÿå 
×ðñÑ– µ̃ð ÜÈðé²™ÁµåÔåíú µ̃åâÿæ˜™²µåêÔåíúÁ™ÑÓ ? 

 (a) ÊÒÊë ÔåêÄð 

 (b) Ôåêº»Äå ÔåêÄð 

 (c) ¼ǻ ™’ð ÔåêÄð 

 (d) † ÔðêéÑ–Äå ²ìåìæÔåíúÁµåë ƒÑÓ 

 

99. ÅÔðé×åÄåÔåÄåêÆ ¼ð˜µð²ìåêêÔåíúÁµå²µå 
ÔðëÁµåÑðëšÒ´µåê ²ìåìæÔåíúÁµðé ‡¼åÉÄåÆÁ™ÒÁµå 
ÊâÿåÜÝÁµå ×å“¾²ìåêÄåêÆ † ’ðâÿå ™̃Äå 
²ìåìæÔåíúÁµå²µå ßðÜÈå²™ÅÒÁµå 
’å²µð²ìåêÑæ˜µåêÔåíúÁµåê ?  

 (a) §®ê± ×å“¾ 

 (b) ‹“é’å²™ÜÝÁµå ×å“¾ 

 (c) ôåÑÄå ×å“¾ 

 (d) ‡¼æÉÁµåÄæ ×å“¾ 

 

100. † ’ðâÿå˜™Äå ²ìåìæÔåíúÁµåê ¼æâ–’ðëâÿåäÊßåê- 
ÁµæÁµå ’å®±́ µå ÜÈæÔåê˜™Ð²ìåìæ˜™²µåêÔåíúÁ™ÑÓ ? 

 (a) Á·µåï´µå µ̃ðëâ–ÜÝÁµå Ôåêº»Äå ÊæÓ’ó˜µåâÿåê 

 (b) ÜÈåÖ²ìåêÒ Ê·åÁµåÐÔæ˜™ ƒÒ°’ðëÒ µ́å 
ƒÅÑ˜µåë´™ÜÝÁµå ÊæÓ’ó˜µåâÿåê 

 (c) ßæ²µåê ÊëÁ™ …°±˜µð˜µåâÿåê 

 (d) ’æÒ“Ðé¯ó ÊæÓ’ó˜µåâÿåê 
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93. Minimum road width required 

for a Kalyana Mantapa in a site 

area more than 1000 m2. 

 (a) 9 m (b) 12 m 

 (c) 15 m (d) 18 m 

 

94. High rise building means 

 (a) a building with ground +                  

2 floors above 

 (b) a building with basement + 

ground + 2 floors above 

 (c) a building with ground +                 

4 floors above  

 (d) a building with ground +                   

3 floors above 

 

95. Minimum kitchen area with a 

separate dining area should be  

 (a) 3 m2 (b) 4 m2 

 (c) 5 m2 (d) 6 m2 

 

96. Vertical clearance for buildings 

near 33 kV HT line is  

 (a) 2 m (b) 3 m 

 (c) 3.7 m (d) 4 m 

97. Maximum coverage area for a 

health centre is  

 (a) 20% (b) 25.50% 

 (c) 33.33% (d) 35.66% 

 

98. Which of these constructions do 

not belong to vernacular 

architecture ? 

 (a) Bamboo house 

 (b) Mud house 

 (c) Thatched house 

 (d) None of the above  

 

99. The energy consumed by any 

product right from extraction to 

the site of use is known as  

 (a) total energy 

 (b) embodied energy 

 (c) kinetic energy 

 (d) product energy 

 

100. Which of the following is not a 

sustainable building material ? 

 (a) Stabilized mud blocks 

 (b) Auto claved aerated blocks 

 (c) Fly ash bricks 

 (d) Concrete blocks 



 ¡¼åê¾ Ê²µåßå’æ”˜™ ÜÈåÀâÿå
SPACE FOR ROUGH WORK

47-A (38 - A)



 ¡¼åê¾ Ê²µåßå’æ”˜™ ÜÈåÀâÿå
SPACE FOR ROUGH WORK

(39 - A) 47-A



ÔåÚÈå¤Äó ’ðëé µ́ó

† ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ¼ð²µð²ìåêêÔåÒ¼ð ÅÔåê˜µð ½â–ÜÈåêÔåÔå²µð˜µåë …ÁµåÄåêÆ ¼ð²µð²ìåê’åë´µåÁµåê.

ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð
ÅÁ™¤ÚÈå± ÇÈå½Ð’ð

(ÇÈå½Ð’ð-II)
úúúúú

µ̃å²™ÚÈå³ ÜÈåÔåê²ìåê ‘ 2 µ̃åÒ ð̄̃ µåâÿåê µ̃å²™ÚÈå³ ƒÒ’å̃ µåâÿåê ‘ 200

DA

ÕÚÈå²ìåê ÜÈåÒ’ðé¼å : 47

ÜÈåëôåÄð˜µåâÿåê
1.  ÇÈå²™é’ðÛ ÇÈæÐ²µåÒÊ·å̃ µðëÒ µ́å ¼å’åÛ¸Ôðé õ.ŠÒ.„²µó.  ‡¼å¾²µå ßæâÿð²ìåêÑ–Ó ÇÈåÐ×ðÆ ÇÈå½Ð’ð ×ðÐéº²ìåêÄåêÆ ̃ µåê²µåê¼åê Ôåìæ µ́åêÔå

ÔðëÁµåÑê, † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ƒÁ¿·µåÔæ ßå²™Á™²µåêÔå ƒÁ¿·µåÔæ ²ìåìæÔåíúÁµðé ÇÈåíú® …ÑÓÁ™²µåêÔå ƒÁ¿·µåÔæ
ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ÇÈåÐ×ðÆ µ̃åâÿåê …¼æÏÁ™ §âÿå̃ µðëÒ ™́ÑÓÔðÒÊêÁµåÄåêÆ ÅéÔåíú ÇÈå²™é“ÛÜÈå¼å’å”ÁµåêÂ. ÔðêéÑ–Äå ²ìåìæÔåíúÁµðé ÁµðëéÚÈå
’åÒ µ́åêÊÒÁµåÑ–Ó ƒÁµåÄåêÆ àÒ½²µåê ™̃ÜÝ ÑÊ·åùÏÕ²µåêÔå ×ðÐéº²ìåê ÇÈå²™ÇÈåî¸¤ÔæÁµå Êðé²µð ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ÇÈǻ µð²ìåê¼å’å”ÁµåêÂ.

2. ƒÊ·åùÏÁ¿·™¤²ìåêê ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ÔåÚÈå¤Äó ’ðëé µ́ó A, B, C ƒÁ¿·µåÔæ D, ƒÄåêÆ Ôåê¼åê¾ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ  OMR

‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ƒÁµå’æ” ™̃ §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÜÈåÀâÿåÁµåÑ–Ó Ê²µðÁµåê ÜÈåÒ’ðé¼å (ŠÄó ’ðëé µ́ó) µ̃ðëâ–ÜÈåÊðé’åê. ßæ µ̃åë
Å˜µåÁ™¼å ÜÈåÀâÿåÁµåÑ–Ó ¼æÔåíú Ôåê¼åê¾ ÜÈåÒÕé’åÛ’å²µåê ÜÈåà Ôåìæ´™²µåêÔåíúÁµåÄåêÆ •¡¼å ÇÈå´™ÜÝ’ðëâÿåäÊðé’åê. õ.ŠÒ.„²µó.
ßæâÿð²ìåêÑ–Ó  ½â–ÜÝ²µåêÔå ²ìåìæÔåíúÁµðé Ôåìæà½²ìåêÄåêÆ Ê·å½¤ Ôåìæ µ́åêÔåíúÁµåê/ŠÄó ’ðëé µ́ó Ôåìæ µ́åêÔåíúÁµåê ƒÊ·åùÏÁ¿·™¤ µ̃åâÿå
¦ÔæÊæÂ²™²ìåìæ ™̃²µåê¼å¾Áµð. §ÒÁµåê Ôðéâÿð Ê·å½¤ Ôåìæ µ́åÁ™ÁµåÂÑ–Ó/¼åÇÝÉÁµåÂÑ–Ó ƒÒ¼åßå õ.ŠÒ.„²µó. ‡¼å¾²µå ßæâÿð²ìåêÄåêÆ
½²µåÜÈå”²™ÜÈåÑæ µ̃åêÔåíúÁµåê.

3. ÇÈå’å”ÁµåÑ–Ó §Áµå̃ ™ÜÝ²µåêÔå ôò’åÁµåÑðÓé ÅÔåêÍ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ
ÄåÔåêëÁ™ÜÈåÊðé’åê. ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó Êðé²µð ‹ÄåÄåëÆ Ê²µð²ìåêÊæ²µåÁµåê.

4. † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð 100 ÇÈåÐ×ðÆ µ̃åâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð. ÇÈåÐ½²ìðëÒÁµåê ÇÈåÐ×ðÆ²ìåêê 4 ‡¼å¾²µå̃ µåâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð.
ÅéÔåíú ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ̃ µåê²µåê¼åê Ôåìæ µ́åÊðé’ðÒÁ™ÅÜÈåêÔå ‡¼å¾²µåÔåÄåêÆ „²ìðê” Ôåìæ ™́’ðëâ–ä. §ÒÁµåê Ôðéâÿð ƒÑ–Ó §ÒÁµå“”Ò¼å
ßðôåê¢ ÜÈå²™²ìåìæÁµå ‡¼å¾²µå̃ µåâ–Ôð²ìðêÒÁµåê ÅéÔåíú Ê·æÕÜÝÁµå²µð ƒ¼åêÏ¼å¾ÔåêÔðÅÜÈåêÔå ‡¼å¾²µå’ð” ̃ µåê²µåê¼åê Ôåìæ ™́. ‹Äðé „Áµå²µåë
ÇÈåÐ½ ÇÈåÐ×ðÆ µ̃ð ÅéÔåíú ’ðéÔåÑ §ÒÁµåê ‡¼å¾²µåÔåÄåêÆ Ôåìæ¼åÐ „²ìðê” Ôåìæ µ́åÊðé’åê.

5. ŠÑæÓ ‡¼å¾²µå̃ µåâÿåÄåêÆ ÅÔåê µ̃ð §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÇÈåÐ¼ðÏé’å ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–ÓÓ (OMR Sheet) ’ðéÔåÑ ’åÇÈåíþÉ ƒÁ¿·µåÔæ ÅéÑ–
×æÎê²ìåê  ÊæÑóÇÈæÎêÒ¯ó ÇÈðÅÆÄåÑ–Ó Ôåìæ¼åÐ µ̃åê²µåê¼åê Ôåìæ µ́åÊðé’åê. ‡¼å¾²µå ÇÈå½Ð’ð ßæâÿð²ìåêÑ–ÓÄå ÜÈåëôåÄð̃ µåâÿåÄåêÆ

µ̃åÔåêÅÜÈåêÔåíúÁµåê.
6. ŠÑæÓ ÇÈåÐ×ðÆ µ̃åâ–̃ µð ÜÈåÔåìæÄå ƒÒ’å̃ µåâÿåê. ŠÑæÓ ÇÈåÐ×ðÆ µ̃åâ–̃ µåë ‡¼å¾²™ÜÝ²™.
7. ¡¼åê¾ ’ðÑÜÈå’æ”˜™ ßæâÿð˜µåâÿåÄåêÆ ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ’ðëÄð²ìåêÑ–Ó ÜÈðé²™ÜÈåÑæ˜™Áµð. ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåê …ÄåêÆâ–Áµå ²ìåìæÔå

Ê·æ µ̃åÁµåÑ–Ó²ìåêë ÅéÔåíú ²ìåìæÔå ²™é½²ìåê ̃ µåê²µåê¼åÄåêÆ Ôåìæ µ́å¼å’å”ÁµåÂÑÓ.
8. ÇÈå²™é’ðÛ²ìåê Ôåêê’æ¾²ìåêÔåÄåêÆ ÜÈåë¡ÜÈåêÔå ƒÒ½Ôåê ̃ µåÒ ð̄ Êæ²™ÜÝÁµå ¼å’åÛ¸Ôðé ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÑ–Ó …ÄæÆÔåíúÁµðé

µ̃åê²µåê¼åêÔåìæ µ́åêÔåíúÁµåÄåêÆ ÅÑ–ÓÜÈåÊðé’åê. ÜÈåÒÕé’åÛ’å²µåê ÊÒÁµåê ÅÔåêÍÑ–Ó²µåêÔå ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÄåêÆ ¼åÔåêÍ Ôå×å’ð”
¼ð̃ µðÁµåê’ðëÒ µ́åê  Ñð’å”’ð” ¼ð̃ µðÁµåê’ðëâÿåêäÔåÔå²µð̃ µåë ÅÔåêÍ ÅÔåêÍ „ÜÈåÄåÁµåÑ–Ó²ìðêé ’åêâ–½²µå¼å’å”ÁµåêÂ.

9. ÇÈåÐ×ðÆ µ̃åâÿåê ’åÄåÆ µ́å Ôåê¼åê¾ „Ò µ̃åÓ Ê·æÚÈð²ìåêÑ–Ó²µåê¼å¾Ôð. ’åÄåÆ µ́å ÇÈåÐ×ðÆ µ̃åâÿåÑ–Ó ÜÈåÒÁµðéßå ‡Ò¯æÁµå²µð, Áµå²ìåêÕ®ê± „Ò µ̃åÓ Ê·æÚÈð²ìåê
ÇÈåÐ×ðÆ˜µåâÿåÄåêÆ ˜µåÔåêÅÜÈåêÔåíúÁµåê. ÇÈåÐ×ðÆ ÇÈå½Ð’ð²ìåê ÇÈåÐ×ðÆ˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµðé ˜µðëÒÁµåÑ˜µåâ–ÁµåÂ²µåë „Ò˜µåÓÊ·æÚÈð²ìåê ÇÈåÐ×ðÆ˜µåâÿðé
ƒÒ½ÔåêÔæ ™̃²µåê¼å¾Ôð.

ÄðëÒÁµåº ÜÈåÒ•ÿðÏ

²ìåìæÔåíúÁµðé ²™é½²ìåê ÔðëÊðñÑó Ç·ÈðùîéÄó, ’æÏÑó ’åêÏÑðé®²µó Ôåê¼åê¾ …¼å²µð ²™é½²ìåê ŠÑð’æ±øÅ’ó/’åÔåêêÏÅ’åðéÚÈåÄó
ÜÈæÁ·µåÄå̃ µåâÿåê …¼æÏÁ™̃ µåâÿåÄåêÆ ÇÈå²™é’æÛ ’ðéÒÁµåÐÁµå „Ôå²µå̧ Áµðëâÿå̃ µð ¼å²µåêÔåíúÁµåÄåêÆ ÅÚÈðéÁ·™ÜÝÁµð.

Note : English version of the instructions is printed on the front cover of this booklet.47-A


